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Question Number : 1 Question Id : 630680292562 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT about the characteristics of accounting as per the accepted

definition of accounting?
Options :

| Summarizing ILegal Data
, w Interpreting economic data

;3 % reporting economic data

4 w recording economic data
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Question Number : 1 Question Id : 630680292562 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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DE?

Options :
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; x 888 BErd ABBoSGo

4 x 888 Terd 858 Tabdo

Question Number : 2 Question Id : 630680292563 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 ¢35 215 200 SHB T 0E30FE HoDOE0D HBIA SIE JE?
Options :

205 - 800 @TO ©F 030l BEy [rdabd O, @onS 208 §H0OMA (DECH SnfiRS o568
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PR ertrelntAla L ela

Question Number : 2 Question Id : 630680292563 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding Book-keeping and Accounting is NOT correct?

Options :

| % DBook - keeping is a primary stage of accounting whereas Accounting starts where bookkeeping ends
, % Book - keeping is routine and repetitive in nature whereas Accounting is analytical in nature

3 « Book - keeping requires special skills whereas Accounting does not require specialized skill

4 % Book - keeping is performed by Junior Staff whereas Accounting is performed by senior staff
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Question Number : 3 Question Id : 630680292564 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1« ABainB

4 % A B,8amC

Question Number : 3 Question Id : 630680292564 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement/s are correct?

A. Gross Working Capital represents the
total of all current assets

B. The net working capital (NWC) is
commonly defined as the difference
between current assets and current
liabilities

C. One of the Endogenous factors is
business cycle which states that the
business expands during periods of
prosperity and declines during the
period of depression
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Options :
.+ AandB

> % BandC
3 % AandC

4 % AB,andC

Question Number : 4 Question Id : 630680292565 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 2552035 (558502 HBNBOD, OB HFEISI DoTHFo:
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Options :

| v B&D ST
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2.8

; x A B&C IS

B & C 3¢5

4. %

Question Number : 4 Question Id : 630680292565 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Consider the following statements and choose the correct statement:

A. Accounting does not record
transactions and events which are of a
financial character

B. Some of the concepts to be observed
at the recording stage are Cost
Concept, Historical Record Concept

C. Accounting is the science of putting
knowledge into practice

D. The objective of accounting to
maintain systematic records

Options :
| v B&Donly

, % A&Conly
3 % AB&Conly

4 % B&Conly

Question Number : 5 Question Id : 630680292566 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who issues the Accounting Standard?
Options :

1. % ICSI

o # SEBI

3 o ICAI

4 % Registrar of Companies

Question Number : 5 Question Id : 630680292566 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 0300 | DR, 2SS 238 Tardy?
Options :

| % ICS

, % SEBI

5 v ICAl

4 x 500 8BTD
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Question Number : 6 Question Id : 630680292567 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (HBTFAIOS” HBFTIS E?

Options :

| % Ind-AS 1 @38 e38¥ (HBBIDH BOADDHETEEAE H0DOGHODIE

5 % INd-AS 2 2T 50805 HODOHODDE
3 % INd-AS 7 SHCH (HTEF (DSFBSOE S0220H0DGE

4 v INd-AS 11 ec7A55Y 208 HODOLHOIE

Question Number : 6 Question Id : 630680292567 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT?

Options :

1. % Ind-AS 1 is related to Presentation of Financial Statements

> # Ind-AS 2 is related to Inventories
3. ® Ind-AS 7 is related to Statement of Cash Flows

4« Ind-AS 11 is related to Income Taxes

Question Number : 7 Question Id : 630680292568 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ind As 19 & H020H0DNGE:
Options :

| % @530l dymren

, » GEsHe HBraTren

4 x ONC (Darire Do

Question Number : 7 Question Id : 630680292568 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ind-AS 19 is related to:
Options :

| = Accounting Policies
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) Employee Benefits

3 % Income Taxes

4. % Statement of Cash Flows

Question Number : 8 Question Id : 630680292569 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 D AR DB (DEEIDD dothTod:
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Options :
| v BT

5 % AT
3 % A&B 3o

4 % ASHBC B DS 5

Question Number : 8 Question Id : 630680292569 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements choose the correct statement:

A. One of the benefits of the Accounting Standard Board is the non-uniform set of accounting principles it promotes.

B. Accounting standards serve the accountants as a guide in the accounting process.
Options :
| « Bonly
, w Aonly

3 % BothA&B

4 # Neither AnorB

Question Number : 9 Question Id : 630680292570 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 630680292570 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct statement:
A. Personal Account is related to expenses, incomes, losses, and gains of business organization.

B. Real accounts are the accounts relating to either tangible things or intangible assets.
Options :

| % Aonly

> % Neither AnorB

3 « Bonly

4 % BothA&B

Question Number : 10 Question Id : 630680292571 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20 oS DR AHHTOZ H020H0D Bod (HELSOS’ Hebso A IE?

Options :

2GS Do(E3 DY (DB ereria) Ay DS R FEBOLIGO SO BOBOTIHO Tk
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3. %
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Question Number : 10 Question Id : 630680292571 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true regarding the Rules of Double Entry System?

Options :

L% Double entry system ensures recording of receiving of values and giving the values of each transaction

, % Dr'is the symbol for debit and 'Cr’ is the symbol for credit
5 % Therule for Real Account is 'debit what comes in'. 'credit what goes out”

4« The rule for personal accounts is 'debit all expenses and losses’, 'credit all incomes and gains'.

Question Number : 11 Question Id : 630680292572 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

358055050 HODOBODS eFTBIN &7es (3525 ToHEE) BAHERE Ho20HOD (80
IDBTAXSES He5s0 TAE DE?

Options :

% SA0Hen Fffen TSI D SV erer Hod BHE BT
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3 x o0 5Q0B D0 5WYen BOH 5D IO, SV grEr Hod BOHE TS
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Question Number : 11 Question Id : 630680292572 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true regarding Journaling the transaction related to goods?
Options :

| ® When goods are bought you will debit the Goods Account

> % When you return goods to the suppliers, you will credit the Goods Account
3 % When goods are returned by your customer, you will debit the Goods Account

4 « When goods are sold, you will debit the Goods Account

Question Number : 12 Question Id : 630680292573 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A. eI Hod Do oraHdo
B. ersrmaed 850 Do
C. erarBD 5848050
D. HOTe DFN0TSS0

Options :
. %x AB,C,D

, v B,C,A,D
, %« C,B,AD

4. % D:B:C:A

Question Number : 12 Question Id : 630680292573 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per the accounting process, which order among the following is correct?

A. Summarising the transactions
B. Recording the transactions
C. Classifying the transaction

D. Interpreting the results
Options :
| & ABCD

, v B.CLAD
; % C,B,AD

4 % D,B.C.A

Question Number : 13 Question Id : 630680292574 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DB (B3, Bdde3 od D508 Blotdod.

13CHS 237 BS ) DI 0 Ty ¢ S'aTerds H180F 1HEAHD O80T TR Sdew:
A. S3E°300 KOS ETT GO, 958500 Ly OB BOTTR) Efdod
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D. A Boea|ifareden OGN AN KT 270E INT O T BADO.

Options :
. %« D,AC,B
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, » B,AC,D
;¢ CABD

+ % ABED

Question Number : 13 Question Id : 630680292574 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the correct order from first to last:

Some of the steps involved while following the procedure for locating the errors when the Trial balance disagrees are :
A. If the difference still persists, ascertain the exact amount of difference
B. Verify whether the balances of all the accounts are included in the Trial balance
C. Check the totals of both the debit and credit columns of the Trial balance

D. Check the totals of the list of sundry debtors and sundry creditors
Options :
. & D,AC,B

, % BAC,D
;v CAB.D

4 % ABCD

Question Number : 14 Question Id : 630680292575 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180A (HEE5e3 A DB [HEEGN DotHFodk:

A. $550(65 a8 (D 550(5 OSrzairrads HOR) Wndy 06 wresrercd DGO TS ), Hod
S30E), ©7350 A e BN HATe FFE I° ST BeNOE

B. @00 grescd R0 TAN@ RS & 5650(¢5 arsard (W88 airessdrds Do) esddo S

Options :
| % Bam&

5 ¢ AT
s x A&BBo&T

4 % ASHBANM B A 5

Question Number : 14 Question Id : 630680292575 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Read the following statement and choose the correct statement.
A. While preparing the final accounts of a sole trader, the profit of the enterprise is known through Profit and Loss
Account
B. A sole trader is not required to prepare Trading Account
Options :

| % Bonly

, ¢ Aonly
3 # BothA&B

4 # Neither Anor B

Question Number : 15 Question Id : 630680292576 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180d (D58 HBNBoD HBH (DELrderdd dothFodk.
A. 385 HRNE0, @dugse> HEIE HVEo, T HE3E HVE0 @F DO Hoded’ o T T
@208 HAsPen.
B. ©93% e9:0200¢% Vs OB B0%E0 S0d eraiae 3888 S sahomrerdor
230theod.
C. 2.8 H0Q 0008 HVFOED VR0 B, (LIAHS erBS,) Deddehrerzo 525y )¢h Sared %)
283y BenNTHB0 RO GoLVOL.

Options :

| % A&C ST
, x AB&C
; x B&C IS

4 v A&B AT

Question Number : 15 Question Id : 630680292576 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the correct statement.

A. Cash book, Sales Journal, Purchases Journal are some of the subsidiary books that are prepared in large
organizations.

B. Having a number of subsidiary books makes the classification of transactions automatic.

C. If an organization prepares subsidiary books then the location of errors will be difficult when the Trial Balance
does not agree.

Options :
| % A&Conly
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, %« AB&C

;3 % B&C only

4 A&Bonly

Question Number : 16 Question Id : 630680292577 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20AE3 0 DB 5850 S HRFO DFB0 20T HOAW 2EBS ) TR 2730 S
S5Esara)d =0, (H00wEA8 8od ¥ ehndyodk:

A. SEE HNEo Ty BOE DerfoS” EAD0T HSWHO 7R HNE0 TRy 3BE oS
&5 ¢3S DB 10 B Bock HVsrereS EDD0T 3°¢3 HELS €38 H°5) TAHOG.

B. §°R0¢38 ¢3%0), 550°5) S50 Goerow, @0t @ 3o DRSO’ QN0 @ edo.

C. 380 HDE0 HBAW 7D HVEo TBE), eriBSIOS S5eiardE 2 S0
HOiBodaderow.

D. S58&0 080 TBEy 3EE JerioS EN0T KeTrostered 2R H0E0 Bwdy BHE derios’
Goed) 73S DBV 0 HBW Bod HVsS’ EID0T ¢38 (55858 ¢35 S35 BADOGK.
Options :
| = C,B,A&D

, « BAD&C
. v A DB&C

, % C,AB&D

Question Number : 16 Question Id : 630680292577 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following steps of identifving the cause of difference between balance shown by the passbook and balance
as per the cash book from first to last:

A. Compare the items appearing on the debit side of the cash book with those on the credit side of the pass book,
and place a tick mark against items appearing in both the books.

B. There will be some items remaining unticked which means they do not appear in both the books.

C. These will now be considered as those responsible for the difference in the balances of the cash book and the pass
book.

D. Compare the items appearing on the credit side of the cash book with those on the debit side of the pass book,
and place a tick mark against items appearing in both the books.

Options :
| % C.B.A&D

, %« BAD&C

;v ADB&C
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4 » CCAB&D

Question Number : 17 Question Id : 630680292578 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOE SB35 A D208de (H5B0 eraria) 850 BaHdSH I, Bor @d I6E HrER),
OO0, IEIT Sarercd 0TS,

Options :

| % oDAIFANOY Saren

5 ¢ (0 0%y S'aren

3 = DS Saren

4 % S8 THcsoS DEHAS Saren

Question Number : 17 Question Id : 630680292578 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a transaction has not been recorded as per the rules of debit and credit, or it violates some other principle, the
errors so arising are called

Options :

1. ® Errors of Omission

5  EITOIS of Principle

3. % Errors of Commission
4 % Compensating Errors

Question Number : 18 Question Id : 630680292579 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true about the Suspense Account?

Options :

|« The Suspense Account which is created is shown in the Profit & loss account

,» % Ifrevised Trial balance does not tally, then the difference is placed in the Suspense Account

3 % Suspense Account is carried forward to the next year

4 % Suspense Account merely represents the net effect of errors which still remain undetected
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Question Number : 18 Question Id : 630680292579 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sod L_&)éﬁacf)@cﬁa [OIR) rErdd o200 D0 TR IE?
Options :

| v 002G S0 0RE T 7250 & SN0 TS HrHaeHod

5 % IGO0V (LD ersBSSy HOFOEFS, e Hreredo HNS) areeS eodacheod.
5 x SRIS) T ST DTHS TSR0

4 % IS e 3500 203638 %8092 S'rer AEE (HerarR) ArODod

Question Number : 19 Question Id : 630680292580 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 DHEEIND AR, DB (DEEIID Dot odk:

A. $Sthde 8o 8 ABOED [HDerdddo B

B. ¢ @R Siic Sareh H:oho
Options :

L% AT
5 o B3

5 % ADBAY B IS 5

4, % A&B Bo&y

Question Number : 19 Question Id : 630680292580 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct statement.

A. The use of depreciation does not affect the financial statements
B. Depreciation is a non-cash expenditure

Options :
| = Aonly
, « Bonly

3. % Neither Anor B

4 % BothA&B
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Question Number : 20 Question Id : 630680292581 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 (HE5eS’ @H05yE 85D’ grererdd HoD0B0D HETAE DE?
A. SHED HRVEO DB LaFoIRRROA.

B. 558K¢5 arerey DB 5557ea GoNod.
Options :
| % ASTSR

, % BT

3« ADBAM B A 5%

4 % A&B Bodkr

Question Number : 20 Question Id : 630680292581 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is incorrect about the accounts from Incomplete Records?

A. A cash book is maintained.

B. There is maintenance of Personal Accounts
Options :
| % Aonly

, » Bonly
3.« Neither Anor B

4 % BothA&B

Question Number : 21 Question Id : 630680292582 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 3¢50 HARF0D HBS Bedercd dotvTod:

A. 220008 J08: B D550 AB0ST-AROTT GOENOE.

B. QI3a%H &80 AR Adven eodard.

C. 25on0ed J0b: §-Fotiber 0 Ho20S0 KR (8T8 Ho20H0NDE.
Options :
| v B0B8aiN C Sy(ead
, % A GO B S

5 % A BSHBAM C

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 16/114



8/9/23, 1:45 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

4 % ADBON C S ad

Question Number : 21 Question Id : 630680292582 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following pairs and choose the correct pairs.

A. Joint Venture: It is of a continuous nature
B. Consignment : The funds are provided by the consignor

C. Joint Venture: The relationship between co-venturers is that of a partnership
Options :
|« BandConly

, % AandB only
3 % AB, and C

4 % Aand Conly

Question Number : 22 Question Id : 630680292583 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 AN B HBBINSE B3, DB 265 oS0k,
A. 305850 78 a°E3d DO

Sticdlexso5 Alc Dr.
3010 25581es Alcto
B. 27000€) J00 FBE0 0500 Thoffen TRy ch:
eron0d) Jodb Alc Dr.
3¢/e3 505 Ale 5o

C. TR 85D TS T-I0wH8 ¢ IQ &) D508 T8 S0G SANHOR HEDT
BR300
270008 J0wHb Alc Dr.

D Easre> Alcsdy

Options :
2. W .Ac;j]@diljc
3 % B so8ain C

4 % A B, 805 C
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Question Number : 22 Question Id : 630680292583 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following pairs and choose the correct pair.

A, When the co-venturers send their contribution:
CashDank A'c Dr.
To Co-venturer's Personal Alc

B. When the goods are purchased for the joint venture:

Joint Venture A/c Dr.
To Cash/Bank A/c
C. When the goods are supplied from his own stock by the co-venturer who is recording the transactions:
Joint Venture A/c Dr.
To Sales Alc
Options :
1.« AandB
o % AandC
3 # BandC

4 % A/B,andC

Question Number : 23 Question Id : 630680292584 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
OB BaeTrrard SBA%N |fFared g Hododo :

Options :

L% OD2STR) SHBAN GE3sh
5 x 58 gyt seinen
3 % 0502357 0BT RSBV

4 v DS SHBaI JB0Ed

Question Number : 23 Question Id : 630680292584 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The relationship between the consignor and the consignee is that of
Options :

| = Employer and Employee

, % DBusiness partners

3 % Master and Servant
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4 « Principal and Agent

Question Number : 24 Question Id : 630680292585 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 (HBFEIOS ererng, 857res HoDO areredd HoD0O0D NSO AO?
Options :
8E DB R50S 9O B0 @030 B A EETAHO HEGIN 550D arEreS’ 2365
| % BOHDBE0A.

2Bed HE55eh 5 B0 6077 SITET HAKES0I0HH0E B T orredddd A
7 % ZenHeod

1852565 5 8300237 075 HdruT HBNF0TIE0A HBC rerd VO 2256
3 @ DDA 0E

4.%

DTH0 NTOHS SOFT HOHS0TIGE0E B 27 BS) Rl Bwéy, Sere> DardosS 855
DoHdenod

Question Number : 24 Question Id : 630680292585 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is incorrect regarding the Accounts for Non-Profit Organizations
Options :

| % Annual Subscription is a revenue item and credited to Income and Expenditure Account

, w» Life membership fees is treated as a capital receipt and directly added to the capital fund

3 « Government grant is treated as a capital receipt and transferred to General Fund

4 % Donation is treated as a capital receipt and recorded on the liabilities side of the balance sheet

Question Number : 25 Question Id : 630680292586 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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808 PPN D0e0B0DMD B DBIdoD DTN DATFTEH0 JocvEol:

A. 20 20rosdo 1. £3¢5 wnﬁ»smu 06K 202N0EPDS
Horododd DoDATORD, DGHLLRD
400 ey DBo

B. z_avﬁ.ﬁﬂs.;j)?g GSarae 2. e_.wii)usm_m SPOED TS
mszma mga

. mavsm 0ot e 3. a,avﬁfrsa»o D06 F08) O30,

ergo Gor HaFod Doed Boink
E05) Soird doietad e

D. erdio sdain :‘ﬁgﬂu P00 4, wﬁ&sﬂ; DHD APOEDHO ST
aree QBC TBIOD) 08D 8575
BODEEDS (RO AVrETO DHAS’)
SO DODLER arae

Options :
| % A-1;B-2; C-3; D-4

, « A-1;B-4; C-3; D-2
3 % A3;B-2; C-1;D-4

4 v A2;B-1;C4;D3

Question Number : 25 Question Id : 630680292586 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Consider the following regarding partnerships Choose the correct answer:

A. Fixed Capital Method | 1. A document
containing the terms and
conditions of the
agreement between tile
partners

B. Partnership Deed 2. A method of
maintaining capital
accounts of partners

C. Partner's Current 3.An account prepared
Account for distribution of
profit or loss of the firm
among the partners

D. Profit and Loss 4. An account prepared
Appropriation Account | (under fixed capitals
method) for recording
all transactions relating
to a partner other than
the capital brought by
him

Options :
| % A-1: B-2: C-3: D4

5 % A-1:B-4;C-3;D-2
3 % A-3;B-2;C-1;D4

4« A-2;B-1:C-4;D-3

Question Number : 26 Question Id : 630680292587 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 2368300 HBKB0D DB DATFTarR) QotHSod:

A. 23irssdor AR - JFPDE0 57650
B. 2>8arss308 SR0°C0 - 28 erdSRI0S” )08 s°¢%.

C. 2@8Rr5e50e) SFPH0ge0 - |08 23iar o), 2.8 A0 (D580, ertarseds et a0 tedozd
AH235°

Options :

| % A&BST&D
, v AB&C

3 % A&C IS

4 % B&C ST
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Question Number : 26 Question Id : 630680292587 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following pairs Choose the correct answer:

A. Partnership deed — Can be oral
B. Registration of Partnership — It is not mandatory in India.
C. Rights of partners — Every partner is. as a rule, a joint owner of the partnership property

Options :
| % A&Bonly

, v AB&C

3 » A& Conly

4 % B&Conly

Question Number : 27 Question Id : 630680292588 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true about the capital accounts in case of partnership?

Options :

| % Under Fixed capital method, each partner has two accounts viz., Capital Account and Current Account

» « Inthe absence of any instruction, capital account should be prepared by Fixed capital method.

3. %
Under Fixed capital method, the capitals of the partners shall remain fixed unless additional capital is introduced or a
part of capital is withdrawn by an agreement among the partners

4. %
Under Fluctuating capital method. each partner has a Capital Account in which not only the capital, but also all the
adjustments like interest on capital, drawings are recorded

Question Number : 27 Question Id : 630680292588 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 |DEEISDES’ 2rBRT 55020 DNACHOE Sorerdded greres HB0D Hebro AH IE?

Options :
1. %

D TOBS HABS, (DS arHIDE Surerddd grEe By 808 e ©n Bodk arEren
OO

5 @ VENB0E3 IS BAL0NSE, DG SO DPES T°5T° SO FFERd PO TASTE.

3. %
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DS 370355 DABE, 23N S50 58 2.0 J0S0 T 5T 895 SFOBES0 (HF DY DED B
SFORS0ES Foch 27 GHD0TEOTNER) HE0T 2rEar 5506 srerdTren DEOM GBotrow.

4. ®
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Question Number : 28 Question Id : 630680292589 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

235 20 DHAD DB HedvaHoeS, D 88070,

Options :
| x ERROR KB

W=

Question Number : 28 Question Id : 630680292589 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At the time of retirement of a partner, is to be calculated.
Options :

| = Sacrificing ratio

, % Capital Ratio

3 Gaining ratio

4 % Leaving ratio

Question Number : 29 Question Id : 630680292590 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180G (DEEINED IO DB (HEEreD QothTodk:

A. 275508 0D D TODEE eriarsne0dEr @ofE8 R, erfarssins S0 BCD eondtD
HONBoNdDER0A.

B. 2,838 ) @0SEr Sarer BRXSE0NS erfiarssing Ho® D @ondeD HBRES0GS0.
Options :

% AdSTSD
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, xBTS
3 v A&B 3oy

4 % AHBAM B A 5

Question Number : 29 Question Id : 630680292590 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements choose the correct statement.

A. The partnership firm is deemed to have been dissolved if all the partners agree that the firm be dissolved
B. The partnership firm is deemed to have been dissolved if all the partners but one are insolvent

Options :

| = Aonly

, % Bonly

3« BothA&B

4 # Neither Anor B

Question Number : 30 Question Id : 630680292591 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST Sarers 258 TOHERE ariar sd0en oSS DB BT OS D DO® A3y
eacen 2,8 AP 13006 $B0tsctEron. &8 ardmd TS 1808 B¥ered Bthe3 0B DN $8%
SINVeRlole)

A. 158 2r8rsan8 Sre>ddo s @68 TODowrd )b TR Btnd B oSG0

B. 1083 2rtiar5o08 07rerddedo o DO 0 e sSie 00 Do od e TOomO S
TR, BE3ohr TOowGo

C. Suchss rdex%o Hod By e e TDotdo

D. ©33aTen, B GOT), 7&K 2@ HotHESETRE DB ANV arfarssned soeds
HoHo.

Options :

| = C,B,D,A
, v C,B,AD
;% C,AB,D

, » C.D,A B
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Question Number : 30 Question Id : 630680292591 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The assets of the firm, including any sums contributed by the partners to make up deficiencies of capital, shall be
applied in a particular order. Arrange the following steps of this form first to last.

A. In paying to each partner rateably what is due to him on account of capital
B. In paying to each partner rateably what is due to him from the firm for advances as distinguished from capital
C. In paying the debts of the firm to third parties

D. The residue, if any, shall be divided among the partners in the proportions in which they are entitled to share
profits

Options :
1% C.B.D. A

, v C.B,AD
; % GAB,D

, » C.D.A.B

Question Number : 31 Question Id : 630680292592 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements regarding the dissolution of a partnership firm by agreement is correct?

A. A firm is dissolved with the consent of all the partners and the business of the firm is closed
B. Assets of the firm are sold. liabilities are paid- off and the books of account are closed

Options :
L% A only

, % Bonly

3 « BothA&B

4 # Neither Anor B

Question Number : 31 Question Id : 630680292592 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2.030090 & 5T i 5e0g H0R BEVBL H0WO0D) 806 (HEEINOES I HBSE?
A. 27855300088 D528 2,8 HoX ECD TAH22ES0E B HoR T3E) Toirdo
WA oW e Ma Vela)

B. 50 BwE; esen JEonodadierawn, Herren BOowsaderon HOain wrer HOsen

ArRraoD2bE0on
Options :

% ASrED

, % B e
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3 v A&B3Bodkr

4 % AHBAW B DA 5

Question Number : 32 Question Id : 630680292593 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 (HEEE HANBOD DB (¥ DOHTOA.

A. HEIS Ve 83, A BnBo TaTrE oS st @557, TR JET @08 arddso
570,

B. orsard NoQ IBng) ee5rrcHdedcdd 283 HGNO Densd oEnod.

C. 238500 DA DB 900G HEDS e :0ES0 DASNEIEY ©55580 055008,

D. T8 €725 DD 9 HBIOZ Dewsd E HOS

Options :
| % A&C TS

, % B&D ST
; & A C&DIT&D

. v ABC&D

Question Number : 32 Question Id : 630680292593 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following statements, choose the correct answer:

A. Goodwill is valued and sold with the sale of entire business and it cannot be sold in part
B. Goodwill has a definite value depending on the profitability of the business enterprise
C. The need for the valuation of goodwill arises in case of retirement of a partner

D. Average Profit Method is a method of valuing goodwill
Options :
| % A&Conly

, » B&Donly
;3 % A C&Donly

4 v ABC&D

Question Number : 33 Question Id : 630680292594 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
| % TEBSY 2¢d By, Sz Jeriio
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4 % O, Sefe gres Gindy (34 Jario

Question Number : 33 Question Id : 630680292594 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The loss on issue of debentures is a fictitious asset shown
Options :

1 # On the liabilities side of the balance sheet

> % On the debit side of the cash book
3« On the assets side of the balance sheet

4 % Onthe credit side of the profit and loss account

Question Number : 34 Question Id : 630680292595 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8od 73S 508 SR D 278 TAH23%Y.
Options :

| % B QO Sew

5 SO HSearrers0ESo B0 s o) 1GS Surerddd e sew

3 % ?\35\“56‘%@ L_ﬁ)&bdﬁao a7

4 % SO DnE o s arer

Question Number : 34 Question Id : 630680292595 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Bonus shares cannot be issued out of
Options :

| % Free reserves

, « Capitalising reserves created by the revaluation of assets
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3 % Securities premium account

4 % Capital redemption reserve account

Question Number : 35 Question Id : 630680292596 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 ¢3S DA 23 BT)) €S VB0 TSI (HWeh eackersy’ exfo 5°¢0?
Options :

L% e00cerENneS Ed) Sk

7 % TN D

3 x OV Soeaicven

4 v DBIBSH

Question Number : 35 Question Id : 630680292596 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a part of Current Assets while preparing the Balance sheet?
Options :

1. # Cash in hand

> # Bills Receivable

3 % Sundry Debtors

4 « Furniture

Question Number : 36 Question Id : 630680292597 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180S HEEJ3OS’ D550 SO IO?

Options :
| v 0 858 TAHA) spduyen, Harew e30e>eS TE298D)
5 % 30, (HAWES DA DY esknerd ¥R Broeran
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4 % SoETen 558155 0BT dewn grare BGE B 0 Ardaron
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Question Number : 36 Question Id : 630680292597 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

| The assets don’t include such expenses and losses which have not been written off in full

> # Assets include current and fixed assets

3 # Assets represent debit balances of personal and real accounts

4 % Liabilities represent credit balances of personal and real accounts

Question Number : 37 Question Id : 630680292598 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘D0RIE0SE) SN0 e7erer'Ed Ho0E0D (0B 1DELSDES” Heheo SO DE?
Options :

L% DOTD5a30ZY 300D 5T €727 ST exESonT DK%
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Question Number : 37 Question Id : 630680292598 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true regarding the 'profits prior to Incorporation’?
Options :

| = Profits prior to Incorporation is regarded as capital profit

, w Profits prior to Incorporation can be utilised for writing off the losses of capital nature

3 Profits prior to Incorporation are available for declaring dividend to shareholders

4. %
In order to ascertain the profits prior to incorporation, expenses of a fixed nature are charged according to time ratio

Question Number : 38 Question Id : 630680292599 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
| % A B&DIm&D

, v A C&D&rgsd
; x B,C&D Sy

,x A/B,C&D

Question Number : 38 Question Id : 630680292599 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the correct statement.

A. Consolidation of shares is done by consolidating the existing shares of smaller denomination into shares of higher
denomination.

B. Alteration of capital can be done only with the approval of the court.
C. Cancellation of Unissued Shares is done by cancelling the shares which have not been subscribed.

D. Sub - division of shares is done by sub- dividing the existing shares of higher denomination into shares of smaller
denomination.
Options :
| % A B&Donly
) v A C&Donly
3 » B.C&Donly

4 % ABC&D

Question Number : 39 Question Id : 630680292600 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
| % B,C&D I

, « A,BC&D
; x A B&D ST

4, v A C&D ST

Question Number : 39 Question Id : 630680292600 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the statement.

A. Pooling of interests is a method of accounting for amalgamations in the nature of merger
B. Accounting Standard (AS) for amalgamation is AS-10

C. Amalgamation is in the nature of merger if all the assets and liabilities of the transferor company become, after
amalgamation, the assets and liabilities of the transferee company

D. The consideration for the amalgamation may consist of securities, cash or other assets
Options :
| & B.C&Donly

, & A BC&D
3 % AB&Donly

4 v A C&Donly

Question Number : 40 Question Id : 630680292601 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a part of Factory Overheads?
Options :

| % Lubricants, oil, consumable stores

,  Salary payable to office manager
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5 w Factory rent, depreciation on factory building

4 % Manufacturing overheads

Question Number : 40 Question Id : 630680292601 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

18083 37588 £.855278)¢S (DoR ASH 5OF Hrasren) 2rfo SRS DO?
Options :

L S0Bdew, &rS, INBrHoT Coseren

5 @ DTe68 TOowsedd o
3 x sE0 ©F, rsEd L Jensd Sdhcse

4 % SOT8 How0HS Ao 5O Ssairen

Question Number : 41 Question Id : 630680292602 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 (D AN DB HEEGE DothTod:

A. e380HO ) 57500 ahfiEr @) WEION) ‘HaiTren’ oty

B. 858 0e30aHSI osteTrer cod |D8s80mr Fedoffen Bohad, )8 Dohadd S
@25:800 @), DEIVCHO ) B 23 Tren GOLron
Options :
L% ASTSR

5 @ B3
s x A&BBo&T

4 % ABCD B DA 52

Question Number : 41 Question Id : 630680292602 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct statement.
A. All expenses other than material are termed as ‘expenses’

B. Direct Materials include all materials or components specifically purchased. produced or requisitioned from
stores
Options :

| = Aonly
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, « Bonly

3 % BothA&B

4 % Neither AnorB

Question Number : 42 Question Id : 630680292603 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 2350300 HONBO IO BTN DB 23653 OO,

A. 1D 5090 : 10858 De300DHES + (Heh:E 5285060 + 2SS (Heh
B. r5¥8 55000 1 73085 a5 - DES FofEh + (DehsE vdoyen
C. &3S S2aD0 1 DTS S50 + aredd t,:50 G

D. 3000 &) 1 €538 H$5aH0 + 9659380 BTN HODES 2,55 2TEeEeN
Options :

| v A&D Sr(¢

28 nddien

2 T

, « A/B,C&D
; x B, C&D IS

. % A C&D gD

Question Number : 42 Question Id : 630680292603 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following pairs and choose the correct pairs.

A. Prime Cost : Direct material + Direct Labour + Other direct expenses
B. Factory Cost : Opening Stock - Net Purchases — Direct Expenses
C. Cost of Production : Prime Cost + Factory Overheads

D. Total Cost : Cost of Production + Selling and Distribution overheads
Options :
| v A&Donly

, % AB.C&D

3 % B.C&Donly

4 % A C&Donly

Question Number : 43 Question Id : 630680292604 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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180od 3R HBHB0D, DB DD IFRY, JOHE 0 :

A| edroes 500 1| 26 DR oIg), ETPYED enoioed” el o5
DfoIreD, ?gcﬁ S0boi Eﬂ?(\a)tﬁ FOIeD Bocot)D) HBricdoc

Felali]
]

B | s 5010 2 | B6 SyoerT ST HeVFMH

C | Fnffen DR00HL) HFODO | 3 | AV DYooDD ED) HOFEFOR DAL

SO Dgomo::‘mau"cm

D f‘gd som0 4 | 95708300 TR DN BTPOOTT DADLCIBO0E.

Options :
| = A-1;B-2; C-3; D4

, « A4;B-2;C-1;D-3
3 ¢ A2;B-1;,C4;D3

, % A-3;B-4;C-1,D-2

Question Number : 43 Question Id : 630680292604 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following and choose the correct statement.

A | Marginal 1 | Atechnique of
Costing charging all costs,
both fixed and
variable costs, to
production of a

product
B | Absorption 2 | Also known as
Costing Variable Costing
C | Historical 3 | Costs are
Costing determined in
advance on certain
predetermined
standards
D | Standard 4 | Accounting is done
Costing in terms of actual
costs
Options :

| % A-1,B-2,C-3,D-4
, % A-4,B-2,C-1,D-3
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; v A-2,B-1,C-4,D-3

4 % A-3;B-4;C-1;D-2

Question Number : 44 Question Id : 630680292605 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are various steps involved in making a break-even chart. Some of the steps are given below. Arrange them in
chronological order. Choose the correct answer:

A. Sales volume is plotted on x-axis.
B. The area to the left side of breakeven point depicts loss zone.
C. Cost and Revenue are depicted in y-axis.

D. The point of intersection of sales revenue line and total cost line depicts breakeven point.
Options :
. % D,C,B.A

, ¢ ACD,B
3. F3 C-.. D-. B.A

4 % B,AD,C

Question Number : 44 Question Id : 630680292605 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

|BE-53S 0% ErerodotidodS’ DG SFen tamyom. ¢3S Q) B (8od @b @ ow.
3R (ES8T RSO 295598308, DB DTG0 Dot odd:

A. DE0ITre DBATE0 X-95 03 LI,
B. 2354538 aroanoddg )hed B2 trd) (2050 SR0 DN |2roerd)) dS8008.
C. %)) HBAY eraDHo y-e95 0B 55008,

D. DEcire> escrod B SH8AM Bndo S50 Bwew 0D S8 (ZE-E3S arowoddcn

IS TV eTAS
Options :
. %« D,C,B,A

, v ACD,B
5 = C,D,B,A

, % BADC

Question Number : 45 Question Id : 630680292606 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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B0 2552005 (D500 HANBOD OB (HFEIND Dot o:
A. &) 238 9O e 0 T
B. &8s A0S 0RE §och 520 S555ES” frO0D sorerdden Pran TBnE) Ferssrdo.
C. VS B8 s7orsddem Fron H02080 BEow® SrdSom Gomer SrrodotinGod.
D. Q& 55369 T3nEy @), oo B S éde, Habd L8050 APEHo BESER),

[~

REDEB0 HABK 2B TnE), o5 eSS’ 2,463

Options :
_ % AB,C&D

, % B,C&DSr(¢&D
3 x B,A&CSr&ad

4 v A C&D &7

Question Number : 45 Question Id : 630680292606 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the correct statement.

A. Production Budget is a functional budget.
B. Capacity Ratio is a measure of the level of activity attained over a period of time.
C. A fixed budget is designed to remain unchanged irrespective of the level of activity.

D. One of the objectives of Performance budgeting is to improve the budget formulation, review and decision-
making at all levels of management

Options :
| % ABC&D

, % B.C&Donly

3 % B.A& Conly

4 v A C&Donly

Question Number : 46 Question Id : 630680292607 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e30% (582 D3NF H00HO0D 1806 HEEIOS’ D50 SO AE?

Options :
1. %

27 B8 A IO @F0E30R $256 DHB Fex SEF0 ) HOD W)y esden, Soegren SBcsw
SarerddTrR)) TR0 d
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, v WO erdo Frerch 0 HESOE HIHS (BV)) xS

3. %
5 &850 QA2 97O JFooDDS HNHS S SBC5M erde Htew Dewsd 60 DoOGTRY
DS IBEDOE

4 % 35, A e @00 ©F0e300 S556 By sEsEerare HOTOD tiryeod

Question Number : 46 Question Id : 630680292607 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT tue regarding financial statement analysis?

Options :

| % Balance Sheet shows the assets, liabilities and capital of the firm as on the last day of the accounting period

5 « Gross Profit Margin is a Long-term Solvency Ratio
;3 % Stock Turnover Ratio establishes the relationship between cost of goods sold and average value of inventory

4 w Profit and Loss Account shows the results of operations for the accounting period

Question Number : 47 Question Id : 630680292608 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 ¢3S OF s6¢3 BAT> SO NO?

Options :
| % $80en B33 (Current Ratio)

, % 855 803 (Quick Ratio)
;v (3% :85¢3 B33 (Debt Equity Ratio)

4 % @7 earsed OF % B3 (Absolute Liquid Ratio)

Question Number : 47 Question Id : 630680292608 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a Liquidity ratio?
Options :

1. ®% Current Ratio

, % Quick Ratio
3 Debt Equity Ratio
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4 % Absolute Liquid Ratio

Question Number : 48 Question Id : 630680292609 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180S (HEESOS’ 5530 SRE IE?
Options :

32 &e8 63 BB (Debt Equity Ratio) @A &6 ke 08050 028 DS Densd 03

TR oM el SRV A TS VT

2. %

H0P By 308 2erl) R Srexd DTS &8 563 Surexds ario o 5o @othar BT,

v O S8k LB Dende> ANHB &8 535" HoP T (DAOH T ond SN0

3.

4% 2:1 56 838 TR SAS0ST 2rNotdStdy

Question Number : 48 Question Id : 630680292609 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is Not true?

Options :

| % Debt equity ratio indicates the relationships between loan funds and net worth of the company

, % The financial strength of a firm can be gauged by the proportion of equity capital in its capital structure
3  Debt to Net Worth ratio indicates the degree to which the firm is trading on equity

4 % AnInterest coverage ratio of 2:1 is considered as adequate

Question Number : 49 Question Id : 630680292610 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180S (53’ 56530 SRE IE?
Options :
| & SOserare 0 ST Agven AG TBwsy 2.8 sareo

5 % °-580¢5 escvey NIFAHo Dol B 2.8 Sreo

3 v V50508 Heacrden QGO darerentT DS DFE

4 x BITBob B0y A Acve> Ty 2.8 GO0
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Question Number : 49 Question Id : 630680292610 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT tue?

Options :

| % Funds generated from operations is a source of Fund

> # Sale of non-current assets is a source of Fund
3« Short-term creditors are included as a source of funds

4 % Payment of dividends is an application of funds

Question Number : 50 Question Id : 630680292611 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 (DEEE AR DB DT 0 JothEodk:
A. B (D VTR0 VR0 TG DI, 2570 B0 256350, T0€3 BTN a8,
EParcen $0e3 AsOE Dorien 08 sdsierare HBOSE Sarow.
B. 35050 0TIRD @6E 5503508 @ DEP2EED, 23D D80 oo Bho
OO SHECHT 7 )80
Options :
L x AT

5 @ BT
3 % A&BBo&r

4 % ASHBS5N B A 5%

Question Number : 50 Question Id : 630680292611 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct statement.

A. While preparing the Cash Flow Statement, long life assets like land and building, plant and machinery,
investments fall under the Financing activities.

B. Cash equivalents are highly liquid short-term investments which could be easily converted into cash without
much delay.

Options :
L% A only

, « Bonly

3 % BothA&B

4. % Neither Anor B
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Question Number : 51 Question Id : 630680292612 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1806 7365 301S T Foreh SO IE?
Options :

| v rreE ddexdso
5 @08KIBNAD5IN

3 % eravsso

4 e SOCEHBS

Question Number : 51 Question Id : 630680292612 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a measure of Central tendency?
Options :

|+ Standard deviation

o % Arithmetic Mean
3 % Mode

4 # Median

Question Number : 52 Question Id : 630680292613 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BoB (HE0O HAR DB (DEerderd dothFod:

A. BDODH HIFH0D0GB0 BE PR 2.8 HE¢ Bavd Srdotdiaciedod.
B. 2aemeb ¥ HirH0203508, Bodh HETHE &5 D000 GO

Options :
L AT
, % BSD

3 # A&B3Bodkr

4 % ASHBSNM B A 5

Question Number : 52 Question Id : 630680292613 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Read the following statements and Choose the correct statement:

A. Linear correlation is denoted by a single straight line in a graph.

B. In the case of Negative Correlation, there is no relationship between the two variables.
Options :
|« Aonly

, % Bonly
3 % BothA&B

4 #% Neither AnorB

Question Number : 53 Question Id : 630680292614 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Prosperity. recession, depression and recovery in a business is an example of
Options :

| # Seasonal variations

> # Random variations
3 Cyclical variations

4 # Secular Trend

Question Number : 53 Question Id : 630680292614 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T30S DB, $7708550, IR0 B Fenido oD Zo &rerde.

Options :
% STEADMED SCITEEN

1
MRS U ARTARL I AV
3 v D805 BDgrgen

4w ETRHODE B3

Question Number : 54 Question Id : 630680292615 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1B0A (D58 A DB (HEErSN dotHFodk:
A. 5305 38 DDYB @9 DN TBwéy H0derd B HreaseE Seurme & 507 BOHDES0E.

B. D009 (363 Ber TRy 588D @0tde JoNETAE HOFEIS rerdeom R 38 HBH
(DG 5 O 23.557) GATTFROIE0E
Options :
% ASTSR

, % BT
;. v A&BBo%>

4 % ABCD B DA 52

Question Number : 54 Question Id : 630680292615 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct answer:

A. Decomposition of a time series is done either by the Additive model or the Multiplicative model of analysis
B. Least Square Method is most commonly used in research to estimate the trend of time series data

Options :
L% A only

, » Bonly
3« BothA&B

4 # Neither Anor B

Question Number : 55 Question Id : 630680292616 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 Beherdd DOKESETE S50, DB 2365050 DotHEok:

A. S50 Hos | BT SO é;éé@oﬁ’;a&ﬁ Qe
B. &8 Dended arcrden Ofen : Ot Qoeddd $effaderdy erddirios D
C. 835380 : 28535 350D D) QT390 0 HBHBS3090TE DATBrE ewoaere’ 2,43
D. 570 S8K0 HBE : Srd) Hdows B3wgy HBE

Options :

| % A&C ST

, v AB,C&D

; x A C8&D &
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, % B, C&DJr&a

Question Number : 55 Question Id : 630680292616 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following pairs and choose the correct pair:

A. Index number : Ratio that is usually expressed as percentage

B. Simple average of relatives : Method of construction of index numbers

C. Food : One of the item of consumption that is considered for the construction of Cost of living Index
D. Time reversal test : A test for Index number

Options :
| % A&C only

, ¢ AB,C&D
;3 » A C&Donly

4 % B.C&Donly

Question Number : 56 Question Id : 630680292617 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

00 D) B dowodo) (Bod La’:}éeoé@ée D520 TR DA?
Options :

| % SO0 D) IO (D8 D)

2. %

@A) Dl B0, 1961 T3nE) DB 557905 To (Deh:E D) e 500 (CBDT) A S8R0,

e300 N, OVE BETAN0D DOOT HY, B A0 By D) HOESE ST
3w S00c00¢3 DoSSNE Ao DHOHEOE

4 v STTONY DAY TR 102 50 QOO

Question Number : 56 Question Id : 630680292617 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true about the Income Tax?
Options :

1. # Income tax is a direct tax

, % Theadministration of the Income Tax Act, 1961 is done by the Central Board of Direct Taxes (CBDT)

; % Income tax is a tax on income, levied on the previous year’s taxable income of an assessee
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4  Income tax is levied by the State Government

Question Number : 57 Question Id : 630680292618 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 HEE3OS D50 SE DE?

Options :
1. %

TR0 YONT 90T (D D035 IB0 D 165 (B0 ST 5ed D0 IS0 A8 318 A
12 J02e) H53O

, % S0B0 emdhHO, @8 H) B Gotiacheod
s v 958 R HB0ES’ S5580er HosNo B S38ver HoR EOR &0k

4 5 (65 0055350 90T e33O HOAFAOD SHEAN oSS S0 50

Question Number : 57 Question Id : 630680292618 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1. #

Assessment Year means the period of 12 months commencing on the April 1 of each vear and ending on March 31 next

, w Itisthe total income, that is put to tax
3 « The term “person” does not include An Association of Persons or a body of individuals

4 % Aprevious year is that year in which the income is earned and received

Question Number : 58 Question Id : 630680292619 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
erdes Yo, errand) Hedoy o 0G 950enS8 $DJ08.

Options :
L% DS 1, 1966
, v DS 1, 1962

s x A2 4, 1969

4 % QDS 10, 1962
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Question Number : 58 Question Id : 630680292619 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, Income Tax Act came into force with effect from
Options :

| % st April, 1966

5 lstApril 1962
3 % 4th April, 1969

4 % 10thApril, 1962

Question Number : 59 Question Id : 630680292620 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Koed® €30 D0 HALY) DBOISNS erraiTrd), Ke30N @8 H0220H0WS BIFCHD) HA) W&o,
1961 G30%), D2d0dSen &S Gy om.
Options :
| v RED 23 oG 27

E D 40 ok 44

2. %

s x D 28 Dok 32

4w ©ED 14 0% 18

Question Number : 59 Question Id : 630680292620 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The provisions of Income Tax Act, 1961 regarding computation of taxable income from house property are contained
in

Options :
1.« Sections 23 to 27

> % Sections 40 to 44
3. % Sections 28 to 32

4 % Sections 14 to 18

Question Number : 60 Question Id : 630680292621 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Bod 73R 236508 508%:
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Options :
| % A-1;B-2;C-3; D4

, % A-1;B-4;C-3; D=2
y x A-3;B-4;C-1,D-2

4 v A-2;B-1;C-4;D-3

Question Number : 60 Question Id : 630680292621 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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A

Dividends

Setting-off losses
against the
income of the
same year

Set-off of
losses

S

Income
chargeable under
the head Income
from Other
Sources'

Speculation
losses

LF¥)

Cannot be set-off
against winnings
from races,
lotteries

Losses from other
businesses

Can be set off
only against
profits, if any, of
another
speculation
business' carried
on by the assessee

Options :

| = A-1;B-2,C-3;D-4
, % A-1;B-4;C-3; D-2
3 % A-3;B-4;C-1;D-2

4 v A-2;B-1;C-4;D-3

Question Number : 61 Question Id : 630680292622 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

180B HEEIOS’ Hehs0 SRE IE?
Options :

% 20 D5 1DHWAITRE 50200 S0 R $58Ke SairdE Ho0S0DS Shody

2. %

£, H585308 HoDeB Dorered DdSTFon0osy 7838 SHBCN rssrdSomr FESRS s sierareres’

550801 a7 5eamR)), |85, )0r0t5¢%0 TR0 Ad B0,

4.%

308 538 FH0 SeFdg TIETS . o)) AESTNG), TR oD% HOOBOD DSITFoNoD)

Qe §22C800E

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

DK DT ©DB5IOS” DSBS H0D 0B erarerdd HOBOGONS SN0
3@ PO |8 YT OTIETRE @6 523808005

471114



8/9/23, 1:45 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 61 Question Id : 630680292622 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT tue?

Options :

| % Deduction in respect of Medical Insurance Premium is a Deduction for Personal Expenditure

2. %

Deduction in Respect of Donations to Certain Charitable Institutions is given for Encouraging Voluntary Participation
in Charitable and Socially Desirable Activities

3.

Deduction in Respect of Profits from Undertakings of Enterprise Engaged in Infrastructure Development is given to
encourage Savings

4. %
Deduction in Respect of Certain Undertakings Carrying Business in North-Eastern States is given for Economic Growth

Question Number : 62 Question Id : 630680292623 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1.¢

Total income is the aggregate of taxable income from each head i.e., salaries, house property, business and profession
but not including capital gains and income from other sources.

, % The Gross Total Income is reduced by the deductions mentioned in Chapter VIA
;3 % Theassessee is put to tax on the basis of his residential status

4 % Deductions mentioned in Chapter VIA cannot exceed the Gross Total Income

Question Number : 62 Question Id : 630680292623 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180& (550’ 5520 SRE IE?
Options :
I

[Bo @roHo RO (DB 0L DHOBAT Do D) eraHo edr, Beren, By e,
L G0 0005 58, 0N SIS EreTen DA WS SIS DHod ST escrairay O
&0CSe.

, % WO eSordhHo 9T ecrioho VIAS 238,65 DedsFomoe e soe esliotdaacienod

3 % OOHTE By Jard P& edonT Hedd) IGO0

4 % OTEA00 VIASS 28765 Q055 on0sen e el abotddrcidd
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Question Number : 63 Question Id : 630680292624 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180S (HEEIOS’ D530 SRE IE?
Options :
TRV R0LT D0Xe5ITAE APENO0DDS T (D5°B0 5558 Ty 300300¢3 D0 IB0 SErCHO R
L% 0] D00

2. %

S0 S BZ0E) DY €518 AGoNOITETVE, e965d) D VA BennFdho trer sddo

3 v DOOHTE ATH P& (083 D05 50 2.8er 5oNod

4 % DOONTHA TEy AT P& @) B8Erah SSDOF 2.8 DHOT OENOR

Question Number : 63 Question Id : 630680292624 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

| = Taxis charged on the income of the previous year of a person at the rate fixed for the assessment year

, % Todetermine tax liability of an assessee, it is essential to know his residential status
3 The residential status of an assessee remains the same in each year

4 # The residential status of an assessee will be the same for all sources of income

Question Number : 64 Question Id : 630680292625 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180& (530S’ 5520 SRE DE?
Options :

0GOS Dard VRS Hoodo B0 erdSTHoS” 0 E80NORS emchoD &)

% X)OCSU“;@ﬁ DY DEOTHIEB0E

5 @ OV E5°0 HAOHTHL A PSA QBon0® DAHSETED 2.3 DO GOEToN

3. %
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Question Number : 64 Question Id : 630680292625 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

| = Income received in India is taxable in all cases irrespective of residential status of the assessee

5  The rules for determining the residential status are the same for different types of assessees

3. %

“Deemed to be received” means that although such incomes are not received by the assessee, they are treated by law as
having been received

4. %
Income is deemed to accrue or arise in India, if it accrues or arises, directly or indirectly from any property in India

Question Number : 65 Question Id : 630680292626 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[Bo e3craHo B0E BadS SNADG ) Farmren @) (08 B 5T 0. ¢S HBS EX7R),
B3 0 VI8 SBBL tHBosodk:

A. ey e3eoHo BwE) Headd

B. 29537505650 VIA |80 €960603038 abddson0s) ST, Soned BaHdo
C. 1 20% 805 H0) DOOTIBRS escravo Ty Beacd

D. 3050 e3rraird 8 BOESG%0

E. 2.8 Q02 38% 80 1158 @0 oG Ha0) DOOIGRN escrado Headd
Options :
v ECAB,D
, « BBAEC,D
.« ADB,CD

. % AB,C,DE

Question Number : 65 Question Id : 630680292626 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Below are the steps involved in the computation of total income. Find the correct order from first to last.
A. Computation of gross total income
B. Ascertaining the amount of deductions admissible under Chapter VIA
C. Computation of taxable income under each head
D. Arriving at the Total Income
E. Computation of taxable income from each source under a particular head

Options :
|« E.C,A,B,D

, x BJAJEC,D
; x AD,B,C,D

4 % AB,CD,E

Question Number : 66 Question Id : 630680292627 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true?

Options :
1. ®

The assessee is required to file a return of his total income even in cases where the assessee has incurred a loss under
the head ‘profits and gains from business or profession’

2. %
Belated return can be filed at any time before the end of the relevant assessment year or before the completion of the
assessment, whichever is earlier.

3 Section 110 of the Income Tax Act contains the provisions relating to the furnishing of a return of income

4. %
Individuals and HUFs having income under the head *“Profits and gains of business or profession™ have to file ITR 3

Question Number : 66 Question Id : 630680292627 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 HEEJOS’ DE Hehg0 5¢0?
Options :
'F5rE0 B 59D D0G 250" BOE 180 HO0HTE TR SFodS dodoyed fre
% SDO0YTE S [0 BrrchHoR 85 & reen DADSOR Gotod.

23005 85 OO HDo0ES BVNVTOE D050 SNATVS S B D0
5 % FOFIEAS SN0, DA SN0 oS e:H)E3 B DS TADHH).

3. ¢
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"3 E0 B 598 S ererer” 38% 805 e3raho Gy H5Bven SHBakw Srody ederes
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Question Number : 67 Question Id : 630680292628 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&) DS3 TR0 BB BEIOD SE8 HOOAOD SO0y 808 A 5BOE.

Options :
L x 0ES80C

Question Number : 67 Question Id : 630680292628 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Deduction in respect of interest on loan taken for higher education is given under
Options :

1. % Section 80 C

> % Section 80 D
3. % Section 80 U

4 « Section 80 E

Question Number : 68 Question Id : 630680292629 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 |DEEISOES’ Hebs0 TG E?
Options :

| % B0 D 50HOMT HB0Y T DISAD.

5 o 280 BSBODS BET D e BB 2,58 Sy DSBOIHTN)
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4. %
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5022066 e5VDR0ET D0 IGO0 G028 31 K¢y SNADSH) B @NR0E FEch:S),
DE ZNOGOT 0NS e953E365°s) DAY HSB0DS 85, DS BB,

Question Number : 68 Question Id : 630680292629 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true?
Options :
Self-Assessment is a process where a person himself assesses his tax liability on the income earned during the
| = Particular previous year

, « Revised return can be further revised only one time
5 % It is obligatory for a company to file return of income

Revised Return may be filed by the assessee at any time before the expiry of the 3 1st December of the relevant
4 % assessment year or before the completion of assessment, whichever is earlier

Question Number : 69 Question Id : 630680292630 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1DZE s ehadd e FHo HeN DA oW. 73, 2.8 HoW) D) Vb0 (Dehersds
DonoTer TS,

Options :

| x DBREH HOFOS

“, s
5 % HoPeh

3 v SO0 B3Arg

4 x S985e3

Question Number : 69 Question Id : 630680292630 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Governments levy taxes to finance their expenditures. Therefore, a good tax system should generate
for the government.

Options :
| % Administrative Simplicity

, % Efficiency

3  Adequate revenue
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4 % Equity

Question Number : 70 Question Id : 630680292631 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OO0 VYD BT HE0LE HOAKD HvY TOOTHEE S0 NI (H 558

DATRHOTT GOTTER) ENEN0A.
Options :

| x BONE (YIS e
, % DS8re ordrer ERe

D87 @S 8D

3.9

4 x TS |TESS 8

Question Number : 70 Question Id : 630680292631 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

rule suggests that the proportion of sacrifice in utility to pre-tax utility would be the same for all individuals.
Options :
| % Dynamic Proportional Sacrifice

, % Negative Proportional Sacrifice
3 « Equal Proportional Sacrifice

4 % Radical Proportional Sacrifice

Question Number : 71 Question Id : 630680292632 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Garodh H) Bew @7 8300 emraboS Bew.

Options :

L v D38 SrDE
) e 0 GRS
s« FEECHrDE

4 % OF0FTHNS ATVE

Question Number : 71 Question Id : 630680292632 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Marginal tax rate is the rate onthe ~ of income earned.
Options :
1.+« lastunit

> # total unit

5 % partial unit

4. % fractional Unit

Question Number : 72 Question Id : 630680292633 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 |DELSOES’ Hebs0 T IE?
Options :

x 283558 HOBEIOS, S e3r320% BT ST OO0 ByREden BT Td
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Question Number : 72 Question Id : 630680292633 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

| % Incase of an Individual, the return of income must be verified by the individual himself

, % Incase ofa Local authority. the return of income must be verified by the Principal Officer thereof

3 Incase of HUF, the return of income must be verified by the Principal Officer thereof

4 % Incase of Firm, the return of income must be verified by Managing partner thereof

Question Number : 73 Question Id : 630680292634 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1808 73S’ HITFDSE HoP By Eraren dN?
A. JBE 578 HoR

B. 2rfiar5s0e Do

@

C. 27on0) 5 o
D. H55S Do
Options :

|« ADBciw B
2. @ Asbdain C
3. ® Cad8ain D

4. ® B s08&ain D

Question Number : 73 Question Id : 630680292634 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the following which are the forms of non-cooperative form of organisation?
A. Sole trader organisation

B. Partnership organisation

C. Joint stock company
D. Cooperative organisation

Options :
1.« AandB

o # AandC
3.8 CandD

4 % BandD

Question Number : 74 Question Id : 630680292635 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80¢S ¢3S° BR) T 50° BR) erSOrT 2riartess 888 Sascn)?
A. 23R 5050
B. &ue0

Options :

% AT

, % BIPSD

3.« AGa%w B Bocdar
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4 % ASOBCD B & 5D

Question Number : 74 Question Id : 630680292635 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Classification of partnership can be done on the basis of which of the following?

A. Partnership
B. Liability
Options :
| % Aonly

, » Bonly
3 « BothAandB

4. % Neither Anor B

Question Number : 75 Question Id : 630680292636 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct with respect to Limited Liability Partnership (LLP)?
Options :

| v The management rests with those partners who are authorised by LLP agreement

, % The governance structure would be based on mutual trust between the partners

;5 % The annual meetings of partners are mandatory

4 % The minimum partners foran LLP is 4

Question Number : 75 Question Id : 630680292636 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S HBW 2373 5eh 2B 5500 (LLP)E 0200800 OBSE E?
Options :
| v VG 537ea @A LLP 2,0)0850 o7 50° 98580 oS A NPT IR To TRV O 1)
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4 % LLP £850 5K 235 550000 4 HD G0bSSd

Question Number : 76 Question Id : 630680292637 Is Question Mandatory : No Calculator : None Response Time : N.A Think

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 57/114



8/9/23, 1:45 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AaSrert SO @39 STodT e erdSTI0S D &) Tarasd S8N0H?
Options :

| % EQOB

5 % 20T

4 @ B0

Question Number : 76 Question Id : 630680292637 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dayabhaga school of Hindu law is applicable to which state of India?
Options :

1. % Jharkhand

> # Odisha
3 % Bihar

4.« Assam

Question Number : 77 Question Id : 630680292638 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 77 Question Id : 630680292638 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is true in relation to One Person Company by the rules framed by Central Government?
Options :
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|« One person can only incorporate a single One Person Company
, % One person can be nominee in more than single One Person Company

3. % Minor can hold share with beneficial interest

4 % Minor can become member of a One Person Company

Question Number : 78 Question Id : 630680292639 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180& 58365 206 A5 $0R) TBwEy €0 IS IE?
Options :

| % @000 TS F0Q) 2.8 EYBad 958
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Question Number : 78 Question Id : 630680292639 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a feature of Joint Stock Company?
Options :

| Joint Stock Company is an artificial person

, w Joint Stock Company is separate legal entity
3 « Ina joint Stock company the ownership and management of the company is always one and the same

4 w Joint Stock company has a continuous existence

Question Number : 79 Question Id : 630680292640 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct?

A. A company established by special Act of the Parliament or State legislature is called “Incorporated Company™.
B. A company incorporated by the registrar of Company under Companies Act is called “*Statutory Company™.

C. In case of Public limited company the minimum number of members should be seven.
Options :

| = Aonly
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) % AandB

3 BandC

4 v Conly

Question Number : 79 Question Id : 630680292640 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180& (550 DE HBIE?
A. 0308 B O73 T8 Ay, 1DBEE 0 &7 507 TR0 E0DAR “DEOS
02" @0tr&D.
B. $000e 580 80 0 88 T D BAHDAS HoHA "HHDDOS Fond"
e0trd.
C. HEE OWB% L0 DNACHOS' DD K25 Do K.
Options :
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4 v C &

Question Number : 80 Question Id : 630680292641 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RS D0 WO 5500 35T DI DOVOTNESHC" 29 A LODDIE DeS%d?

Options :
| % 25°0.e5.%8 (George.R.Terry)

, % 2009 $r08) (Harold Koontz)

3 % ED S, (Joseph Massie)

4 v 00 85 FBE (Mary Parker Follett)

Question Number : 80 Question Id : 630680292641 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who defined management as “Management is the art of getting things done through people?”
Options :

| % George.R.Terry
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> % Harold Koontz

3 % Joseph Massie

4  Mary Parker Follett

Question Number : 81 Question Id : 630680292642 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 630680292642 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements show the limitation of Planning as one of the key functions of Management?
Options :

1. % Pervasiveness

> # Future orientation
3. % Reliance on Information

4« Fluid Process

Question Number : 82 Question Id : 630680292643 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 563" 38T 2200 (DB 557760) ©E.£30 DE?
Options :

% 06508 BN @HOTOE O 20

s v DO Deesd

s n HE DS
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4w BINSE S

Question Number : 82 Question Id : 630680292643 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of Organising?
Options :

1. ® Formal and Informal nature

> « Division of Work
3 # Intellectual Process

4 % Future oriented

Question Number : 83 Question Id : 630680292644 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
23R DTS (Henri Fyoal) 105°80, 30025 008 Hrererdn H020800 (§0d 1HE6S S
19880 DA He530?

A. 658 BTOOT Ie8d0 G l3eNE 00050 CHZBSTRVE wrsaHnPon tow

B. 0D’ 55550 QB 5579 700, a2 808 &EeHen EBSERS AaHETen S8akm
2000 a3y JiTdSenrr gomd).
Options :
| ASTED

, % BT
L % AsHBatn B Bodr

4 % ASHBAW B DA 520

Question Number : 83 Question Id : 630680292644 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Henri Fyoal, which of the following statement or statements are true in relation to Principles of
Management?

A. Remuneration paid to employee should be fair to the employee and employer.

B. For conduct of affairs in the organisation, it is essential that emplovees must be discipled by the employer
through strict rules and contracts.
Options :
| v onlyA

, % OnlyB
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3 % BothAandB

4 % neither A nor B

Question Number : 84 Question Id : 630680292645 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AN T8 H020B0D) 1808 [HELDS DA Hebgo?
“2,8 HOP Ty HeF%e0 oG, DorsrE es@%77 Q0 (managerial economics), 8§ 380
Q&7 Do DB 5D0TI23E85TD)."
A. QOTHTT eQF Hadddsen (3 Hadddy)
B. S84 658)), 55806y (DE5e35) 0557e oS8 Do BEromnoyen.

Options :
| % ASTSR

2 o ANBC B Doy
3 x BIFSD

4 % ASHBA5W B A 5

Question Number : 84 Question Id : 630680292645 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is true for the given sentence.

“From the point of view of a firm, managerial economics, may be defined as economics applied to
A. problems of choice.

B. alternatives and allocation of scarce resources by the firms.
Options :
| % Aonly

> « BothAandB
3 » Bonly

4. % Neither Anor B

Question Number : 85 Question Id : 630680292646 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BSr0G QA0 D5H0, eEdS SeE5PeD 2,365 G5ed) R, 2.8 S50 B ed G K801

G091 D¢38 0D 0 &S EANOMT G DT DT HcTEoen Fooc% Bt Srsyerd.
Options :
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L eo&dE ALY
L 502 AHTDEY
5 x @ GO SHoce

4w DT Bwdo

Question Number : 85 Question Id : 630680292646 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The law of demand states that consumers are willing and able to purchase of a good or service at lower prices
than at higher prices, other things being equal.

Options :
1. Imore units

> # lessunits
3. % DO units
4 % Equal amount

Question Number : 86 Question Id : 630680292647 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LIRS BN T WS HE oS 08 & 8 o%E )
Options :

| % Ton TDosy

5 o RS 3DoD
5 5 @08 TDoy

4 x B0t BDoH

Question Number : 86 Question Id : 630680292647 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Explicit costs are those costs that involve  to other parties.
Options :

| % deferred payvment

,  actual payment
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5 % additional payment

4 w foregone payment

Question Number : 87 Question Id : 630680292648 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9RO SO 2.0)050 B weDE3 APcHoeS’ erforr K0S TR S DS
D8 BD o ) o ew.
Options :

L% 5 Dabie o)

, % 280 )

3 v 0858 DADB e (5378 558 sdoyen)

4 % PO A

Question Number : 87 Question Id : 630680292648 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
are expenditures that have been made in the past or must be paid in the future as part of contractual agreement
or previous decision.
Options :
| % Separable cost

> # incremental cost
3 « Sunk costs

4. % Common cost

Question Number : 88 Question Id : 630680292649 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The essential condition for stable equilibrium is that

Options :

| = the demand curve have a positive slope and the supply curve a positive slope
, w the demand curve have a negative slope and the supply curve a negative slope

3 the demand curve have a negative slope and the supply curve a positive slope

4 % the demand curve have positive slope and the supply curve a negative slope
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Question Number : 88 Question Id : 630680292649 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S DeFers0E €9a50ETS HAVE ;
Options :
GaSr0dR S| %02 s e EOR roLn0od HHBAW DBNT® S|EBD Hrreszd arendd 8
| % GEOENOD

2. %
G50 5| %02 Soemred 8 arencd EOR G0tnod HBGN HEDHT® 5 ETp Seares 8 Trencd §OR
oAV elA

A0 S| EBD eTed 8 arencd OB Gotnod DB BT SETD Hared ¥ arensd 6
3 CIOLNOO

BaSr0chy S| ¥ Srred i arencd EOR Gonod B DBDHT® HEBw Serred 8 arendd £08
4 % GOEVOA

Question Number : 89 Question Id : 630680292650 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S0 O 2SVO0G.

A. BB JIsedan 1B 208 Do 0ot 2,8 Ba0s D
DRV B e od.
DDy BTPOITY Do

B.ogwerd addy 2. 850 Dothyn) 0L HRDDHED
S0B0ID DRI B DY

C.2rd0% eTroio 3300308 JenDdo) €398

Pokiotre 62 esbs 55553‘53
L [}

D. DAFATD DAy | 4208 Do G0eS” abogren,
DOLSTeD, 580 DD AESD
STPEIGIR RN DAY

Options :
| % A4,B-1,C-3,D-2

, » A-3,B-4,C-1,D-2
i % A-2,B-4,C-1,D3

4 % A-1,B-3,C-2, D4
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Question Number : 89 Question Id : 630680292650 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the Following

A. Closed Economy 1. Sum total of factor incomes
accruing to the residents of a
country during a given year

B. Investment Expenditure 2. Expenditure on goods and
services for satisfaction of
waints

C. National Income 3. An economy which does

not have economic relations
with the rest of the world

D. Consumption Expenditure | 4. Expenditure on capital
goods like machines,
equipment, factory building.
etc. during a year

Options :
| % A-4,B-1,C-3,D-2

5 v A-3,B-4.C-1,D2
;. % A2,B-4,C-1,D-3

4 % A-1,B-3,C-2,D-4

Question Number : 90 Question Id : 630680292651 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23 ord §85)) ( John Maynard Keynes) (535230, Gs350ch o0’ S0 (92585083060 Srdojen
Q0% oS 3> BDZSTOW.

Options :

v s hen
) % S
3 x e

4 % S8y B

Question Number : 90 Question Id : 630680292651 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to John Maynard Keynes, the changes in the level of aggregate effective demand will bring about in
the level of income.
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Options :
1.« Fluctuations

7. % Increment
3. % Decrease

4 % Nochange

Question Number : 91 Question Id : 630680292652 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T ANS D80 &8 1SEE (6558 5285707 ) EODI IR A0 DA G IS DY
[0B0eS D80S &) DBOTT DEDHETTr LIrDoERE AN JoDEE BB (EdvosS
INVeRlola)

a. 38860 o507 | 0N ERDES” DG

b. 300 BST0M% SHBA BTrcHo Y oS B0 LKL

c. Heado oo emrabocS DG

d. H50H0DRNS DEPAS” DEHED
Options :
| % & b, c,d

, % a,dcb
;¢ d,cab

4 % b,d ac

Question Number : 91 Question Id : 630680292652 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rearrange the given options in proper order to show how income and output will increase by even larger amount when
accelerator is combined with the Keynesian multiplier.

a. increase in induced investment though accelerator
b. Aggregate demand and income increase by and even larger amount
c. increase in income through multiplier

d. increase in autonomous investment
Options :
| % a b.c,d
> % adeb

3. ¢ d.c,a.b

4 ® b.d,a,c
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Question Number : 92 Question Id : 630680292653 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The base of Mercantilism theory was
Options :

| % Local Economy

> « Commercial Revolution
3 % Feudalism

4 % Rudimentary Trade

Question Number : 92 Question Id : 630680292653 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0703030 ( Mercantilism) DT 050 B3y e35rd0 .
Options :
| % 8 388 5559

)

) @ T3R5 B0

5 x 2008 HPB

4w rerord aredego

Question Number : 93 Question Id : 630680292654 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2575055-2.6 (Heckscher-Ohlin) 2T0650 £ e905a7e) e3t3S0IT e90S5T 0% aederid e

D), DSEN0E. (808 73S’ &8 eotdmroeS’ 2.5¢3 5 JE?
Options :

| % CO® Dred Garod HEVe 2. G ow
, » %0 AS” 56,5000 B0 Eoi) 8 OB TFO B S05er¢5-00085) RS

5 5 ROS Boch Brren Gam)om, B0 A SrBciv B

4 v 30 ABosn THo BeS® 656538 SAH2a%S @) S5WG 07385850 By

Question Number : 93 Question Id : 630680292654 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Heckscher-Ohlin’s theory explains the modern approach to international trade on the basis of certain assumptions.
Which of the following is NOT one of them?

Options :
1. # Demand conditions are identical in both the countries

, % Country A is labour-abundant and country B is capital- rich
3 & There are two countries involved, country A and B

4 All the goods produced in country A and country B are capital intensive:

Question Number : 94 Question Id : 630680292655 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20N D0DES OB DB 265D DOHT0R.
Options :

| x @%%0: 19955025065 0588 E0310T FE

5 v B0 ad RO 2.8 QR 5588 ED oo Frdyy

3.8

8: 2,100 BENFIY I SNHOSA e N Bed oG Tedfencrddy ST AESH 2.0930850

23 : 530S e BN 26O TAHHOD $DISH % B T Hdeven
4 5 BOBB 25y ek

Question Number : 94 Question Id : 630680292655 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct pairing from the given options.
Options :

| % Sale ; Rights against the whole world

5 « Jus in personam : Rights against a particular person

3. %
Price : A contract of sale where the property in goods passes from the seller to the buyer when the contract is made

4 % Property : When the property in goods is to transfer at a future time or subject to some condition being fulfilled

Question Number : 95 Question Id : 630680292656 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
20N DODES DO DB 25 JOHT0SR
Options :
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1. %
QBN 5WY: ST DFOH 2,006, Eo¢0E)%05) DBeb @507 S5t WOHDAS Do toeh 1S
DODDED B T eN TODH2RD NG e

DFTB0tH2BS SVGeN: 2D DECH 29570650 ot B0 HsvaHoeS FEerd KHBotsadS
5 % BN 0AEBOIRGS HWHen.

3.

QAT B0H23¢%R) 58 0aHen: 2D 2,8)0¢50 ZocHBE® HDeDAHOE HBOTHGHA) BTN o80T
NIV TN

4 % BIDES SWhen: EAD 2,500 TWES) STm ¢ 2,)0850 (05780 HEOIES.

Question Number : 95 Question Id : 630680292656 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct pairing from the given options.

Options :
1. %

Specific Good : means goods to be manufactured or produced or acquired by the seller after making the contract of sale

Ascertained goods : These are the goods which are identified and agreed upon by the parties at the time

) % a contract of sale is made

Unascertained goods : These are the goods which are not identified and agreed upon at the time when
3 the contract is made

4 » Future Goods : identified in accordance with the agreement after the time a contract of sale is made

Question Number : 96 Question Id : 630680292657 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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E‘% 208 QOTEFIFTCOAD aO0IL 78 JeTHe) adn0d0c.

A, D850 DoRTrom OO

{English Mercantile Law)

1. & DEFDoDEES ADQD0ETY 0IE IR0y 3D D stor§ 1881

B. 2r0S0H T50& €360

2. €5 TIFC0 CINE), TP DG PTPBNOA Dobododcos”

S0P{ROD g Taod

0 xr"?soib .bgcﬁ)wm
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D. S‘{SEDD Sudoin DRdlrErren

4. DD E2oers :}gmaot:saoeﬁ‘ S0BOTD 2POBOD FETrO)

DDBoLsoes” esofs El"é(l‘.i.).g"R?D DPOIFOR) SODNT PO e

PR,

Options :
| % A-1,B-2,C-3,D4

, » A-3,B-1,C-4,D-2
;% A-2,B-1,C-4,D3

, x A-4,B-3,C-2,D-1

Question Number : 96 Question Id : 630680292657 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following sources of Mercantile law in India and their descriptions.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

A. English Mercantile
Law

1. The Negotiable
Instruments Act
Essentials of a Contract
1881

B. Indian Statute Law

2. Plays an important
role in regulating the
dealings between the
merchants of that trade

C. Judicial Decisions

3. It is an unwritten law
based on customs,
usages and precedents

D. Customs and Usages

4. The decisions of
English courts are also
frequently referred to as
precedents in deciding
various cases and for
interpreting the Indian
Statutes

Options :
| % A-1,B-2,C-3,D4

, & A3,B-1,C4,D2
; % A2,B-1,C4,D3

4 % A-4,B-3,C-2,D-1

Question Number : 97 Question Id : 630680292658 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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808 a°¢3a) 23e5DD0M:
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e90s8S0l] D8 D auga DoDER Do TR(D" B0
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Options :
| v A-3,B-4,C-2, D1

, % A-2,B-1,C-3,D-4
; % A-4,B-3,C-2,D-1

4 x A-1,C-3,C-4,D-2

Question Number : 97 Question Id : 630680292658 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following.

A, Valid Contract

1. Is the one which has been specifically
declared to be unlawful under the provisions
of the Contract Act or which goes against the
provisions of any other law of the land.

B. Void Contract

2. According to Section 2(i) of the Contract
Act, an agreement which is enforceable by
law at the option of one or more of the parties
thereon, but not at the option of the other or
others

C. Voidable Contract

3. A contract which satisfies all the conditions
prescribed by law

D. Illegal contract

4. According to Section 2 (J) A contract
which ceases to be enforceable by law

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action
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Options :
|« A4-3,B-4,C-2,D-1

, % A-2,B-1,C-3,D-4
; % A4,B-3,C-2,D-1

4 % A-1,C-3,C-4.D-2

Question Number : 98 Question Id : 630680292659 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TeWerEn 9TNE 20008 800 3¢36T SNWIOTT BSHEDISE DE?
A. 2,500

B. ¥d%0 Bodh rden

C. S5Endd 30H

D. 29QHEZ0 Hod0d0
Options :

| % A B&CIm&D
, % A B&D IS
; » B,.C&D Sy

,v AB,C&D

Question Number : 98 Question Id : 630680292659 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an essential requirement of a valid contract?
A. Agreement

B. Mininmm two parties

C. Lawful object

D. Legal Relation
Options :
| % A, B & Conly

, % A B&Donly
% B.C&Donly

3

4 v AB.C&D
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Question Number : 99 Question Id : 630680292660 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e 058 B TS’ Darmrerd B DZoreredd DN BOBETRE STtk E5°) e HEBER
©000erene’ o) ow. (808 ae3eS” are3eY 2.5¢3 5 DE?

Options :

L% rDRE 0OSE DB

5 v DOV ©H5E DO
3 % VAN ®OFE DO

4 % O53 0858 HOE

Question Number : 99 Question Id : 630680292660 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are three types of Jurisdiction available for settlement of disputes or differences between or among the parties.
Which of the following is NOT one of them?

Options :
1 # Territorial Jurisdiction

> « Criminal Matter Jurisdiction

;3 % Subject matter Jurisdiction

4 % Pecuniary Jurisdiction

Question Number : 100 Question Id : 630680292661 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S&IBE SuHEL Ho20H0D 1808 73S D Hebzo?

A. HE) DEDed 5063 B g2 5856, 2.8 HOD 5 578 T8 EDIHTNIEIFTIE T
&0 5585597 2.8 et GHTFHOTHET HDsNTHOS” s=&ITET S0 DB BADA0A.
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Options :

v ASTED

5 % B3

L % AcHBE% B Bods

4 % AHBAM B A 5N
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Question Number : 100 Question Id : 630680292661 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is true with regards to Corporate Veil?

A. The corporate veil is lifted when in defence proceedings, such as for the evasion of tax, an entity relies on its
corporate personality as a shield to cover its wrong doings.

B. The shareholders can ask for the lifting of the veil for their purposes.
Options :
| v OnlyA

, % OnlyB

3 % BothAandB

4. % Neither Anor B

Question Number : 101 Question Id : 630680292662 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement or statements are correct with regards to Number of Directors?

A, A minimum number of three directors in the case of a public company.
B. A Minimum number of two directors in the case of a private company.

C. A minimum number of five director in the case of a One Person Company.
Options :
| = OnlyAis correct

5  Only A and B are correct
3 % A, B, and C are correct

4 % Only C and A are correct

Question Number : 101 Question Id : 630680292662 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QT 5557500 HowsEd H0220800) 1808 [DEENDHELSOES” I Hebso?
A. HEE Z0DDS’ $H0 H0thd doessrdoen o).
B. | 53¢ 005 $d0 add domsiriven tomd.

C. 23 358 Do’ 8150 0H S domsrduen towd.
Options :
e ASTISRD 3D

) o ASHBOSD B TS HBID
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Question Number : 102 Question Id : 630680292663 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 558365 2.4 HODD SIFRIBINEIED (32005555 EINTD e TAPSIE DE?
Options :

) % ErEH B orerordien

s v DSDT 278 T e

Question Number : 102 Question Id : 630680292663 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following cannot file petition to the Tribunal for winding up of a company?
Options :

| % The Company

, % The contributory or contributories
;3 % The Registrar

4 Any Citizen of Republic of India

Question Number : 103 Question Id : 630680292664 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 73S’ B HOKEIISE SN e3GES FA0R Tdy ED ST B0 BTN & 5250
QA 520N 22CA0E?

Options :

| v DO B8y HOXTE0 HBA HoSaed

5 % @080 AESErothaR oBE orerddeno

3 x BETFOD IV TR A0

L x @O S22 S0B e E @SdTTen
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Question Number : 103 Question Id : 630680292664 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The exact form and nature of audit planning, should be governed by which of the following considerations?
Options :

| v Size and complexity of the company

, % The physical environment in which it operate
;3 % The method of processing loans

4 % The production requirements to which it is subject to

Question Number : 104 Question Id : 630680292665 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180S 5¢365" @3BES 57802708 S0 [HGTS HBFOSOES” 2,563 IO IE?
Options :

| % D% Q20850 (9580 Aaireho HBT oS AT BoHEDH0

2. %

DA B%0, Doe HBE, e Hrdddhs @odar B, e SN BNABD a7¢3 $HB80D) SHETd
083753280 SHBAN SFTIS0erD SP0SES0.

3 v D0 ©HHO0T T 030N H5dPD HBIDOT), TS IFT weren o) Hosod

4. %
QB 5570152206800 DD HAF 23, 7¢3Q) AELT0E 63750 B a7¢3 Sarme Hosse
Ngolntele

Question Number : 104 Question Id : 630680292665 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not one of the major considerations before the commencement of audit?
Options :

| % Ensure that the appointment is in order under the provisions of law

2. %
Obtain necessary information and instructions about the nature of work. scope of duties, expected date of completion of

audit, audit fee, etc.

3 « Examine the accounting system followed by the company and identify the strength, if any

4 % Geta list of various books maintained, those who maintain them and their specimen signatures
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Question Number : 105 Question Id : 630680292666 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DEIVOLEI (3% 5¢5) DO R HOQ Birr® @GO [DerRo T AB0S [ dadired £O8
&0, 1808 ¢3S o3¢S’ eS0T BE)EN D0?

A. H0Q B3nE) DIFT°0H0 HOA e0OESen eerT, RS BB T LOHLDRTD B IEDETS
RAEATOTATN IO

B. @53 HEFed TTaex D805 AB0S [3rbnds Qdairew

C. QB0 oa75ard S50 D80 a75ard |DTFOE D000 aedSeTed ¥ i
Options :
1. ® A &!)]60530 G

3 x ASTER

4, % B&{)JEJGSJ)C

Question Number : 105 Question Id : 630680292666 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A Permanent File should contain matters of continuing importance affecting the company or the audit. Which of the
following is/are normally included?

A. Memorandum and Articles of Association and other appropriate statutory or legal regulations.
B. Copies of other documents and minutes of continuing importance.
C. A detailed description of the type of business carried on and the places of business.

Options :
1 % AandC

7 « AandB
3 % OnlyA

4 % BandC

Question Number : 106 Question Id : 630680292667 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 106 Question Id : 630680292667 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement or statements are true?

A. In conducting a performance audit. an assessment of the organisation’s operations is done to determine if specific
programmes are operationalizing to achieve stated goals.

B. The Compliance Audit ensures if the money invested has yielded optimum results by the organisation
Options :
1. % BothAandB

, % OnlyB
3« OnlyA

4 # Neither Anor B

Question Number : 107 Question Id : 630680292668 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o8 esBerdrr DO 23¢dges eyt 5s0:0 (LLP)E 05 2.8 S0® Qohotsardedsy) 1c, m
G5ed), 2R £e30000 A7 5a0) DOW 58 DA BALEERE HBAD HosEo TaNLD wHs TR 07

Ce0ETN.
Options :

| x S0 DD

, v TTEE ©ToBotY
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4 x 30 DIYAHS & (LLP)

Question Number : 107 Question Id : 630680292668 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where a firm including a limited liability partnership (LLP) is appointed as an auditor of a company, only the partners
who are shall be authorized to act and sign on behalf of the firm.

Options :

| % Company Secretary

5 « Chartered accountants

3 % Director of the company (LLP)

4 % Financial Head of the Company (LLP)

Question Number : 108 Question Id : 630680292669 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&) S:30en E0A) BGED AATHSVE ey 5% R d B0 108 D2oBIE €02
53R &ared ADR0TIEB0A.

Options :

| DES 141 (1)

L % RES141(2)

s v DES 141 (3)

L% NES141(4)

Question Number : 108 Question Id : 630680292669 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
of the Company Act 2013 read with Rule 10 prescribes the persons who shall not be eligible for
appointment as an auditor of a company.

Options :
| % Section 141 (1)

, % Section 141 (2)
3 Section 141 (3)

4 % Section 141 (4)
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Question Number : 109 Question Id : 630680292670 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 58365 @058 e AAHO|B ©F 20 SAE IE?

Options :
1. %

LT S0 TB0E), SO HDOSE OGNS rsard 8 s8erarereS S5TOD HBAN 9P 5er%
HotHe S JJ-Omr SeBoHe.

2, %
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GO 0

3 % DR O DTTEN DO SEF DY) OB BeNFDE
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Question Number : 109 Question Id : 630680292670 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an objective of Internal Control?

Options :
1. %

To minimise, if not completely eliminate, wastages and inefficiencies in business operations and to safeguard the assets
of the business.

, % Toensure high degree of accuracy and reliability of accounting data and promote operational efficiency
;3 % Tomeasure how far the policies of the management are being implemented

4  Toevaluate the efficiency of performance in all aspects of business activities and to highlight the strength

Question Number : 110 Question Id : 630680292671 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 83/114



8/9/23, 1:45 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Arrange the following steps in the system of internal check from first to last.

A, One Salesman must be appointed to look
after one counter independently and should
be made responsible for sales effected in his
counter.

B. Each salesman must be issued with a
separate cash memo or sales memo book

C. Cash memo are to be issued with carbon
copies

D. All payments on the cash memo of the
salesman must be made for the customer at
the cash counter

Options :
1.+ ABCD

» % BDAC
;3 % ACDB

4 % DBAC

Question Number : 110 Question Id : 630680292671 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2906585 5D 53350 THe3 0 DB S58%0 1808 B3 e9:0808.

A. 2,8 o850 DBogorr ATFRNEITIS 28
13955513"?555‘1) @:JDDRJEBTP DoHdozd
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969030 e d.

B. 0 DESNATDHD SN0 HBE HICH

A FT° D5y DODT LD obord

C. 520 DD 526D et esoford

D. 57§ 20T DPoRDen ) NSy ATED
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Options :
v ABCD

, = BDAC
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; % ACDB

4, = DBAC

Question Number : 111 Question Id : 630680292672 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SEAREY RO Q) S DENIDT e00506h e3> DB 55 DabE, B RS eoesdeh
1DArere FH0o Do T°50° BE® 7R SEND DS S8T0TIETTC0 DA HOR AE) 50%0-
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Options :
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5w o00Cha o8 esheTen
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4 v 0CE3 b es@éSen

Question Number : 111 Question Id : 630680292672 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Internal audits, sometimes called , are conducted by, or on behalf of the organisation itself for management
review and other internal purposes and may form the basis for an organisation’s self-declaration of conformity.

Options :
| = Fourth-party audits

» w Third-party audits

3 % Second-party audits

4 fist-party audits

Question Number : 112 Question Id : 630680292673 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e HIFTO Q oE0e A’ AT ETER0S T irTred O R BHEHT SOOR
D DODSE N5B?

Options :

| @05 chaxrs. T3 (Arthur W. Holmes)

, % ID.e05.00. & S (FRM. De Paul)
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3 ¢ OTORY &8 (Lawrence Dicksee)

, x 8TP . 083 (Rorlald A. Irish)

Question Number : 112 Question Id : 630680292673 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who has defined vouching as an act of comparing entries in the books of accounts with documentary evidence in
support thereof?

Options :
1. # Arthur W. Holmes

> % F.R.M. De Paul
3.« Lawrence Dicksee

4 # Rorlald A. Trish

Question Number : 113 Question Id : 630680292674 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 558365 S5 HOIOOTEND 1 e3&ET HAOTHEFSOS 9030 DE?

Options :
1. ®
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Question Number : 113 Question Id : 630680292674 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following point an auditor should bear in mind while examining a voucher.
Options :

1. #

The auditor is mainly concerned with collection and evaluation of evidences to establish accuracy and authenticity of,
those facts that have actually taken place.

2.¢
The auditor should be careful about vouchers which are not in the name of the business but in personal name of the
partners, directors, manager, secretary or any other official.
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3 & An auditor should check only a very less number of vouchers.

4 % While routine checking is carried out, vouching may be considered as superficial

Question Number : 114 Question Id : 630680292675 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % B&C A&
, % A&C S
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4, % A&B Sy

Question Number : 114 Question Id : 630680292675 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The auditor should verify and value Motor Vehicles through a procedure. Which of the following is one of them?

A. To check the Motor Vehicles Register if the company has a number of vehicle
B. To ensure that all additions or acquisitions during the year have been properly capitalised

C. To see that separate details have been maintained in the register for every vehicle in respect of its date of
purchase, cost, registration number, engine number. chassis number, ete.

Options :
% B & Conly

1
, » A&Conly
3¢ AB&C

4 % A&Bonly

Question Number : 115 Question Id : 630680292676 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 115 Question Id : 630680292676 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pair is correct with respect to the function of commercial bank?

A. Primary function of commercial bank = collection of deposits

B. Secondary function of commercial bank = Fixed deposit
Options :
| % BothAandB

5  OnlyA
; % OnlyB

4 # Neither Anor B

Question Number : 116 Question Id : 630680292677 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1806 ¢3S Br-25750800 GHBVrTeS’ 2,563 TG DE?

Options :
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Question Number : 116 Question Id : 630680292677 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a benefit of E-Banking?

Options :
1. % It lowers the transaction cost.

, w It inculcates a sense of financial discipline and promotes transparency.
;3 % Customers can make the transactions from office, home or while travelling via cellular phones.

4.+ It allows for limited transactions.

Question Number : 117 Question Id : 630680292678 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 76365 Do TS H0&% 2EO HAE D&?

A. NEFT
B. RTGS

C. IMPS
Options :

| % A&B IS
, % B&C ST
3 x A&C ST

4 v A BBk C

Question Number : 117 Question Id : 630680292678 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a method of electronic fund transfer?

A NEFT
B. RTGS

C. IMPS
Options :
| % A&B only

, % B&Conly
% A& Conly

3

4 v ABandC

Question Number : 118 Question Id : 630680292679 Is Question Mandatory : No Calculator : None Response Time : N.A Think
https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 89/114



8/9/23, 1:45 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true in the case of bancassurance?

A. No bancassurance Agent shall tie up with more than three life, two non-life and one standalone health insurance
company in any of the states in addition to one each specialised Insurance companies.

B. No insurers other than the specialized insurer shall tie up with any bancassurance agent in more than nine states /
Union Territories in Zone A and six states / Union Territories in Zone B.

C. Every specified person of the Bancassurance Agent shall, apply through the Bancassurance Agent to the
designated person of the insurer to obtain the certificate.

Options :
| v onlyA

, % onlyB
3 & only C

4 % None of the given options

Question Number : 118 Question Id : 630680292679 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 119 Question Id : 630680292680 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 119 Question Id : 630680292680 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true in relation to Banking Ombudsman?

A. Ombudsman is empowered to bring a court suit against the authority
B. They are the Government agents, with full powers more than those granted to Government official
C. The Ombudsman is a law enforcement official

Options :
|+ AandB

b % AandC
3 # CandB
4 % NeitherA B, orC

Question Number : 120 Question Id : 630680292681 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 120 Question Id : 630680292681 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Whenever the RBI wants to put check on the , it raises the cash reserve ratio.
Options :
| % Expansion of debit

> % Contraction of Credit

3 « €xpansion of credit

4. % Contraction of debit

Question Number : 121 Question Id : 630680292682 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 |DELIOS A Hebso?
Options :

| % 27505 Do TS 2B 25080 250%0%0 So|dorT TR Traad Béw

, @ 2505 Bewn 0B D06 2808 aredes a0 @0B0T Sy H6 Bén

3%

23208 Bew ©FA erarng B ©osTeah 2508080 oS 27508 e Sien T SG Bew

4 % 27505 Bew &0 e 27508 @99 Q0BT DT HoHL e iSI1en TR SG Bew

Question Number : 121 Question Id : 630680292682 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true?

Options :

1 # The bank rate is that rate of return at which the national bank makes central to bank

> « The bank rate is that rate of interest at which the central bank makes advances to commercial bank

;3 % The bank rate is that rate of interest at which the central bank makes advances to non-profit international bank

4 # The bank rate is that rate of interest at which the State Bank of India makes advances to chit fund

Question Number : 122 Question Id : 630680292683 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S A 2 3B0H 82K 27508 DO TAE DO?
Options :
| x (02HE 58 ers08Br S5derboTd
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Question Number : 122 Question Id : 630680292683 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a function of Reserve Bank of India?

Options :
1. % To act as a banker to the Government

, % Tocontrol and supervise banks
5 w IO issue currency notes

4 « Toactasa law making institution for insurance

Question Number : 123 Question Id : 630680292684 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&30 D 557729 E0DREW HBASW B0odkr @0A0T Rdewn el e Godraw.
Options :

| x ©g50 HBAW SaFe AP e HoP

, % TDS S5 ol HoY
3 x 00 QB e HoY

4 v ST DS 55re Hoven

Question Number : 123 Question Id : 630680292684 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Financial services include the services offered by both Asset Management Companies and the
Options :

| = Profit and loss Management company

) % TDS Management Company

3 % Iax Management Company

4« Liability Management Companies
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Question Number : 124 Question Id : 630680292685 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1B0B Ddden e8¥ de> A @ ©F ) ATrDNOA,

e0eh30¢5 e3e5¢5 50 EOB &5ed) |DN0 FrErdEeos (erod wanes @nd wrer §ofo. 0¥

Eeb 3880 SHBA eI OHOT &8 HOVEN D FFEFTTHe DT LATV]) SO SH0W)
K EOR GO ), €3 D3cNS0B0 TENITN). @OLNSD, HOVE 5 D FHAADEHD
D0THFSEAE 78 DI Teaged DA DTS 5 Sy ETE.

Options :

|« SQT-es70 e

5 o 5586

3 0 DESOE

4w ST S8

Question Number : 124 Question Id : 630680292685 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following description refers to which character of Financial Services,

In a highly competitive global environment brand image is very crucial. Unless the financial institutions providing
financial products and services have good image, enjoying the confidence of their clients, they may not be successful.
Thus, institutions have to focus on the quality and innovativeness of their services to build up their credibility.

Options :
| % Customer-Specific

5 « Intangibility
3. % Concomitant

4 % Tendency to Perish

Question Number : 125 Question Id : 630680292686 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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8060 a°¢3a) 23e5DND0R.

A. Darty
ST Do audoID
aoron Baoffen

1. Doexd BPocsror FD) DO/ DDOD Fofen
BV DFHOD Den EDy0d

B. 8¢S =D

2. b &505 0% T eTfoHV &G 220050 BTN BD
£22060£ 3E5D HRDED T VOO IoDOS TG
D0, QoY SPeEo PrTEErEeR) Fuffen Shvod.

C. Dodd S"]S?oe:w

3. Docsg=edE ol HISTDE PIFEOYE 90 DI

ardobh.
D. =GrFodo 4. (FRD0IRLA SWPOGR e OIS Fa Do
GI0E); DIDVEE DDA DODoSEod.
Options :

| = A-1,B-2,C-3, D4

» o A-3,B-1,C-4,D-2

3 x A2 B-4,C3, D1

4 % A-1,B-4,C-2,D-3

Question Number : 125 Question Id : 630680292686 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following.
A. Leasing and Hire | 1. which enables an individual to purchase certain products/
Purchase services without paying immediately
B. Credit Card 2. is an arrangement between the financial institution or banks
and the business concern which provides goods or services to
its customers on credit, wherein the factor buys out clients
C. Venture Capita | 3. have emerged as a supplementary source of intermediate to
long-term finance.
D. Factoring 4. is defined as the organised financing of relatively new
enterprises to achieve substantial capital gains.
Options :

| % A-1,B-2,C-3,D-4

5 v A-3,B-1,C-4.D-2
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; % A-2,B-4,C-3,D-1

4 % A-1,B-4,C-2,D-3

Question Number : 126 Question Id : 630680292687 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 ¢3S Brk0sdn B8 S SO E?

Options :

| w fsds A 55rea (Issue Management)

5 % TEIBE Hed aden (Corporate Advisory Services)
; » (B%E Be30f (Credit Rating)

4 v 95806 Deew (Personal Funds)

Question Number : 126 Question Id : 630680292687 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a fee based service?
Options :

| % Issue Management

, % Corporate Advisory Services
;3w Credit Rating

4+ Personal Funds

Question Number : 127 Question Id : 630680292688 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a trust that pools the savings of a number of investors who share a common goal.
Options :
1.+ Mutual fund

, % Factoring Fund
3 # Pension Fund

4 # Social Fund

Question Number : 127 Question Id : 630680292688 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Question Number : 128 Question Id : 630680292689 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
| % D-1,B-2,C-3,A-4

, « D-1,B-4,C-3,A-2
3 % D-2,B-3,C-4, A1

4 » D-4,B-3,C-2, A1

Question Number : 128 Question Id : 630680292689 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the correct description with the type of lease,

A. Leveraged Lease L. the lessor not only leases the
asset of which he remains the
owner throughout, but also
undertakes to provide services
attached to such assets

B. Financial I ease 2. the lessor purchases the asset
with an appropriate mix of debt
and equity

C. Sale and Lease Back | 3. the lessee who already owns the
assets, sells the same to the lessor,
and thereafter takes the same asset
from him on lease basis.

D. Operating Lease 4. the lessor remains the owner of
the leased asset during the lease
period but does not undertake its
necessary maintenance.

Options :
| % D-1,B-2,C-3,A4

5 » D-1.B-4,C-3, A2
5 % D-2,B-3,C-4,A-l

4 % D-4,B-3,C-2,A-1

Question Number : 129 Question Id : 630680292690 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 ¢35 8orow Eoffen 2008 O 52rards Ho0B0N) Do SR DE?

Options :
| = Sorow FFenEHE) S 0238 SNHED 0BT

, % TOEedS BOOD) Baheod
s D8 DS Sorow O HOKBoNRIROS

2.8} o oS BOOD, RS DBAOF SG GO, HWIHO D SES ThffenBdy
4« GOENOA.

Question Number : 129 Question Id : 630680292690 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following is NOT true with respect to nature of Hire Purchasing agreement?
Options :
| = the delivery of goods will be given by the owner of goods to the hire purchaser

, % Ppayment will be made in instalments

;3 % each instalment will be treated as hire charge

4.
if even one instalment is paid and the other conditions are fulfilled, the ownership of the goods will pass to the buyer

Question Number : 130 Question Id : 630680292691 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R BT HBGHM e0DHYDS (BB E B4
Options :
| % O3redd &

2. % N &SF

3 8% Soea &%

4 @ TOAS &

Question Number : 130 Question Id : 630680292691 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is the primary stage of financing associated with research and development.
Options :
| % Experimental Stage

, % Credit Stage

3 % Loan stage

4  Seed Capital Stage

Question Number : 131 Question Id : 630680292692 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

may be needed by an enterprise for adding production capacity once it has successfully gained market share
expects growth in demand for its product.

Options :
1 # Turn Around
, % Replacement Finance
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3 « Expansion finance

4 % DBuyout Deals

Question Number : 131 Question Id : 630680292692 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 oD DeANS0BOTT $583E36T 7 SFOSS Tm 56 DO ¢S E5¢9 18 GSrod

DR e300 ST 565 Creh ) ANTER) DO TB%0 INE e To RN VN
Options :
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4 % Shoffen a.djomren

Question Number : 132 Question Id : 630680292693 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 (HEES B (HELSOS DO Heb30?
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Options :
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, % BT
3 v AB Bodr
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Question Number : 132 Question Id : 630680292693 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement or statements are true?

A. Translating a future cash flow or value into its equivalent value in a prior period is referred to as discounting

B. Compounding and discounting are techniques to facilitate the comparison of cash flows occurring at different
time periods
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Options :
| % only A

5 % onlyB
3 « BothA&B

4 % Neither AnotB

Question Number : 133 Question Id : 630680292694 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80O 58 S 198OS A Hebs0?

01528 &7 0300 555¢0e%0 000NN peEren
A. 5553560 o ko

B.1OE 5556 HB0T G060 Ben DHHE0E
Options :
| v AL

, % B ST
5 % A B0 B Bodr

4 % AHBSM B A 5%

Question Number : 133 Question Id : 630680292694 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is an effect of shorter discounting periods on cash flow?

A. The mumber of periods increases

B. The discount rate applicable per period increases
Options :

| v OnlyA

) % Only B

3 % BothAandB

4 # Neither Anor B

Question Number : 134 Question Id : 630680292695 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 630680292695 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct statement:

A. Factoring services can be considered either for domestic transaction or for export transaction.

B. Factoring is done on the strength of sales invoices only.
Options :

| = Aonly

, % Bonly
3 « BothA&B

4. % Neither Anor B

Question Number : 135 Question Id : 630680292696 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PS5 Do0E30N DA £0T0 80365 ONETNGES BAE 5500 D8 &) 3AE erarBaedy
200 DA% §%00 GBI0BDROE.

Options :

1. % 3 J®en

> % 10 Jeexn
3 v 10088350

4 % 2 TJOLD

Question Number : 135 Question Id : 630680292696 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Forfaiting is meant for financing credit transactions of having deferred credit period of more than
Options :
| % 3 months

> # 6 months
3 1 year

4 % 9 months

Question Number : 136 Question Id : 630680292697 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1Bod (H5E5e35 HBNBOD HATDR (HEEIH8e JothTod:
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Options :
| % A/B&D I3

, v AB,C&D
; » B,C&D Sy

4 % A&C ST

Question Number : 136 Question Id : 630680292697 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following statements and choose the correct Statements:

A. Services provided by the Merchant Bankers include Management, marketing and underwriting of issues,
Corporate advisory services.

B. Formal Merchant Banking activity in India originated with the setting up of a Merchant Banking division by the
Grindlays Bank in 1969.

C. Merchant Banker is required to be registered with SEBI debenture trusteeship.

D. As per (Article 19, of SEBI Regulations for MB), all issues should be managed by at least one merchant banker
functioning as the lead merchant banker

Options :
| % A, B & D only
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, v AB.C&D

3 % B.C & Donly

4 % A&Conly

Question Number : 137 Question Id : 630680292698 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 137 Question Id : 630680292698 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bhagyashree Child Welfare Policy is offered to girls between 0-18 years. The age of the parents of the girls shouldn’t be
more than

Options :
00 years

1
) % 50 vears
3 % 40 years
4 % 30 years

Question Number : 138 Question Id : 630680292699 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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4 % @050

Question Number : 138 Question Id : 630680292699 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT one of the requirements for a life assurance contract to be legally valid?
Options :

| = Offer

5 « Minor’s Capacity to contract

3 % Consideration

4 % Acceptance

Question Number : 139 Question Id : 630680292700 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

offers death cover if the life insured dies during the term of the policy and also offers a Survival benefit if the
life insured survives until the maturity of the policy.

Options :
1. % Whole of Life Insurance Plan

> # Unit Linked Insurance Plan
3 # Variable Insurance Plan

4.+ Endowment Insurance Plan

Question Number : 139 Question Id : 630680292700 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L o 8¢ DAT Srerdy @958 0065 2rerd) e3dn80ds) 5558 0S8R, 0% SB0D
0BG HBOHH Ferd DorsreBed SBE Dr TS 528 20D GO 3B 509 | DB,

45 @WOANOA.
Options :

SO e BD @B S (Whole of Life Insurance Plan)
5 % Al Hof 28388, S (Unit Linked Insurance Plan)

_ J8Aend Q8BS oS (Variable Insurance Plan)

L QOGO AT IBS) S (Endowment Insurance Plan)

Question Number : 140 Question Id : 630680292701 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 140 Question Id : 630680292701 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Some of the steps involved in claim settlement in case of General Insurance are given below. Arrange from first to last.

A. Evaluation/Registration of Claim

B. Appointment of surveyor/loss assessor/investigator etc
C. Intimation/Submission of the Claim by the Insured

D. Recovery

E. Settlement of claims
Options :
| % B.AC.D&E

, ¢ GABE&D
; # AC,B_D&E

4 = AB,CD&E

Question Number : 141 Question Id : 630680292702 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 141 Question Id : 630680292702 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NWOT the function of the Insurance Regulatory and Development Authority of India?
Options :

| % The protection of the interest of the consumers

, % Toensure the financial soundness of the insurance industry

3 « To ensure the financial soundness of the banking industry

4. %
To pave the way to help a healthy growth of the insurance market where both the government and the private players
play simultaneously

Question Number : 142 Question Id : 630680292703 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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4 v B)BS) B8 @908 BIOHDOE e95rdes

Question Number : 142 Question Id : 630680292703 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The regulator for the monitoring of the operations of the insurance companies is
Options :

| % Securities and Exchange Board of India

> # Reserve Bank of India
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;3 % Competition Commission of India

4 « Insurance Regulatory and Development Authority

Question Number : 143 Question Id : 630680292704 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1B0A 238808 HBKF0D HOTDS DT R, HOTHEOR:

225536 A 270 1 Do AaDHO(ehEa O 9DSHE HoD ('esdE ABEEe Saird SHBakw D
00 e3BGED 880) daxoddew, 2002.

A. 12780 : 'es8% AT HEe> $asrdE e oe3of HrEren
B. Il 27%0 : @5)BS) 300 e38% ABEES’ 23D 2387Ges HEDD DedTren
C. lll 270 : €388 AZIOEe> Sairds Arcrden Srcdeden

D. IV 250 : DB 557 DaaddE D&drerdo
Options :
v+ AB,C&D

, % B,A&CIreD
3 x A&C SIS

, % A B&D I

Question Number : 143 Question Id : 630680292704 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following pairs and choose the correct answer:

Part of Schedule A : Insurance Regulatory and Development Authority (Preparation of Financial Statements and
Auditor’s Report of Insurance Companies) Regulations, 2002,

A. PART I : Accounting principles for preparation of financial statements
B. PART II : Details of Disclosures which are forming part of Financial Statements in the Insurance Company
C. PART III : General instructions for preparation of Financial Statements

D. PART IV : Contents of Management Report
Options :
v ABC&D
5 % B.A&Conly

3 » A& Conly

4 % A/B&Donly
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Question Number : 144 Question Id : 630680292705 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2STIBS) BB 008 BIODR0E ©950¢3 (DT RANS VE D0 (DHTAS BN
ASTIBS) 0N e3GeE B8FF) BKSNS), 20028 H02050D 808 (DSOS’ DE HBSE?

A. EDe DS T arorR), FSarfed) Dk S0P S A ST SrdodS darodddes
€950T*EEY €00 GOFS).

B. (3583 a3 H0P 085w Basr)s85 Bwdy esd8 AB3OEe D e3derd AIOE ks DS’
QAFLIOD AIDOANEY @954 £8e5080 a0 GroEe)

C. rerden D7 agarorR)) SORrHOT D HoR 2¢rsS B ' HrD0dS Qadodddes
HNT OB @DMEIOT GO

D. 'e5-27: B8 21¢) 55265 D SeadaHomT e35rE5%E0 5880 DS L0 2B a1
HBFO0EOS HosRed DSOS
Options :
% AB,C&D

, % B,C&D Iy
; v A C&D&resd

4 % A&D SIS

Question Number : 144 Question Id : 630680292705 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding Insurance Regulatory and Development Authority (Preparation of Financial
Statements and Auditor’s Report of Insurance Companies) Regulations, 2002 is correct?

A. An insurer carrying on life insurance business is to comply with the requirements of Schedule A of the prescribed
regulations.

B. The report of the auditors on the financial statements of every insurer and reinsurer shall be in conformity with
the requirements of Schedule D of the prescribed regulations.

C. Anp insurer carrying on general insurance business is to comply with the requirements of Schedule B of the
prescribed regulations.

D. The complexity to read the balance sheet of an insurance company arises because of its significant reliance on
‘Off-Balance Sheet Capital.

Options :
1 % ABC&D

, % B.C&Donly

3 A, C&Donly

4 % A&Donly
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Question Number : 145 Question Id : 630680292706 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 %030 B9ER) DB (HEE0e dothFod:

A. D7 ro|Bed 0RO BI0S |HAWCHO, B37°2red ADIBT (S8 (HACHO) B8 02308,

B. Do~ a5 s08050 DS 20| Seh T34 250500 ©98)d)E Frowd) (HBDoDNOA
Options :

v ASTSR
, % B
; % A&BBo&r

4 % ASo BoS & 5%

Question Number : 145 Question Id : 630680292706 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct statement.

A. Insurance density is calculated as the ratio of premium to population (per capita premium) in a country.
B. Insurance penetration and Insurance density reflects the country’s level of development of Banks.
Options :
|« Aonly

, = Bonly
3 % BothA&B

4. % Neither Anor B

Question Number : 146 Question Id : 630680292707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DS E0DAD DT G5 L00® DATrHTEE @0&0ereneS’ &rd) DT HBLLE Do
338y S8 H02080D 808 ¢3S HBIE IE?

A. D50 e BRG 15 Farore'sy Do H0Q i ¥ s5Eons, ATrHmSach
BB — 1AOTIBS,) BSE8 BSeD R0 ewrrdel @n R0&asr (IRDANE HT°sch
Batson.

B. D55 L0 (¢85S0 DATBrHT H065y%) ToSEFS B HdTirdo Tidfa, Hir
E0DVE DT BRI 30 Faze) 5T 56h DB N0 o &x. 20 @ ew, AATTETE
%5 TSR ASTYBE)) 0022085 oS HDODE0TISTDY

Options :
| x ASTSR
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, v A&B IS
; x BIFSD

4 % ABo B A 5%

Question Number : 146 Question Id : 630680292707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding the steps of Grievance Redressal Mechanism available to the consumer if
has a complaint against the insurance company?

A. In case the complaint is not fully attended to by the Insurer within 15 davs of lodging it, the consumer may lodge
the complaint to the Regulator — Insurance Regulatory Development Authority of India (IRDAT)

B. If the consumer is not satisfied with the reply of Insurance Company or reply is not received, then after 30 days
of filing complaint with the Insurance company and the loss amount not exceeding Rs. 20 lakhs, the consumer
can approach the Insurance Ombudsman of his zone

Options :
| » Aonly

) « A&Bonly

3 » Bonly

4. % Neither Anor B

Question Number : 147 Question Id : 630680292708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B 2dryBS) arerd 8o &8 708 DiSrerdh DEE H020H0D 80 VET0ETE 55503
SDBAM DB DATETTR), DOTHETO:

A. 5055 HE.0 568 BT 1S Bwebo D Hod BDoSER GOENOE, DOKEOT 3¢S
5.0 5% BOoHX VT80T B SEH,B0D 55750 DS HoDss B,

B. §%) s05ed 70 237356505 AFomiNod snBCh T8 easkutheaotT HBE0 BOothenod.
2rcieed B0,
Options :
v ASTSR
, % BT
s x A&BBokr

4 % ASHBAN B oS D& 52

Question Number : 147 Question Id : 630680292708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements regarding the insurer’s duty to the third party under the Motor Insurance Policy and
choose the correct answer:

A. Tt is obligatory on the part of the insurer to pay the third party since, the insurer has no rights to avoid or reject the
payment of liability to a third party

B. The court determines the third party liability and accordingly compensation is paid. The liability is limited
Options :

| Aonly

, % Bonly

3 % BothA&B

4 # Neither Anor B

Question Number : 148 Question Id : 630680292709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Insurance Council has opened ombudsmen centres across country as per Insurance
Ombudsman Rules, 2017.

Options :
1% 7

) # 9
3 8% 12

4.« 17

Question Number : 148 Question Id : 630680292709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ASTIBS) 020G DS A0ddden, 2017 55780 DS TS Tiarsvomr
2902205 )R ACDDOTIOE.
Options :

1. ® ?
2. 9
3. % 12

4.0 17

Question Number : 149 Question Id : 630680292710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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07 (D637 DS DACHOE, SRDBTFE0 Sowed DAHEIE DT TS 8558 eofy (2957850 2388
S SO B SD DB H080eTO).
Options :
| % 30 8zren

5 % 45 &een
5 v 15 &een

4. ® 1668‘3:'

Question Number : 149 Question Id : 630680292710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In case of Fire and Marine insurance, the insured must lodge the claim form within of the fire to claim
compensation.

Options :
| = 30days

, % 45 days
3 « 15days

4 % lday

Question Number : 150 Question Id : 630680292711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 |DELSOES’ Hehso 570 H0BE0 E?

Options :

| v Trde D5 H, @) FerRen $5IAHET Sonersd ST on
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) ® @:Q@“é\)

3 x o DX HOHESE 5T ) TR, 1DSTETen €5 SN0, (2965575578 555880 B rAHo
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Question Number : 150 Question Id : 630680292711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true in case?
Options :
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|« Incase of General Insurance, all policies necessarily result in claims

2. %
Out of any insurance contract, the customer has the expectation of timely delivery of defect free policy documents

;3 % Some of the risks that are covered by general insurance are Property loss. Accidental death or injury

4 % The main products of general insurance include Motor insurance, Fire insurance, Personal accident insurance
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